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FOREWORD

This volume, the seventeenth of its kind, includes the texts of the Uniform Certified Public
Accountant Examinations from May 1974 to November 1975 prepared by the Board of Ex-
aminers of the American Institute of Certified Public Accountants and adopted by the
examining boards of all states, territories, and the District of Columbia. The sixteen prior
volumes contain all the examinations since 1917.

While the American Institute of Certified Public Accountants does not publish official
answers, it is felt that students and CPA candidates may be benefited by a review of the un-
official answers published twice a year as a supplement to the Journal of Accountancy. Con-
sequently, we are publishing simultaneously with this volume a companion book entitled
Unofficial Answers to the Uniform Certified Public Accountant Examinations, May 1974 to
November 1975, which contains unofficial answers to the questions in this volume.

A special note of thanks is extended to John G. Pate, Jr., University of Texas at El Paso, for

the comprehensive index included in this volume. A careful reading of this index may benefit
candidates in their review when preparing for future examinations.

Guy W. Trump, Vice President-Education and Examinations
American Institute of Certified Public Accountants

April 1976
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Examination Questions
May 1974

Uniform Certified Public Accountant Examination

(Prepared by the Board of Examiners of the American Institute of Certified Public Accountants
and adopted by the examining boards of all states, territories, and the District of Columbia.)

- EXAMINATION IN ACCOUNTING PRACTICE — PART I

May 8, 1974; 1:30 to 6:00 P.M.

NOTE TO CANDIDATES: Suggested time allotments are as follows:

All questions are required:

Estimated Minutes

Minimum  Maximum

No. 1 o e e e e 50 60
No.2 . ....... e e e 50 60
NO. 3 e e e e e e e e e e e e e 40 50
NO.4 .« o e, 40 50
NO. S e e e e e e e e _40 _50

Total . . .. . . . . e e 220 270

INSTRUCTIONS TO CANDIDATES

You must arrange the papers in numerical order of the
problems. If more than one page is required for a
solution, number the pages in sequence for that
problem with the lead schedule first, followed by
supporting computations. For instance, if three pages
are used for Problem No. 2, you would show Problem
2, Page 1 of 3, Page 2 of 3 and Page 3 of 3.

The printed answer sheet provided for the objective-
type items should be considered to be Page 1.

Enclose all'scratch sheets. Failure to enclose scratch
sheets may result in loss of grading points. Scratch
sheets need not have page numbers, but you should
show the problem number and place them
immediately following the problem to which they
relate.

3.

Fourteen-column sheets should not be folded until all
sheets, both wide and narrow, are placed in the proper
sequence and fastened together at the top left corner.
All fourteen-column sheets should then be wrapped
around the back of the papers.

A CPA is continually confronted with the necessity of
expressing his opinions and conclusions in written
reports in clear, unequivocal language. Although the
primary purpose of the examination is to test the
candidate’s knowledge and application of the subject
matter, the ability to organize and present such
knowledge in acceptable written language will be
considered by the examiners.

DISREGARD OF THESE INSTRUCTIONS MAY BE CONSIDERED AS INDICATING INEFFICENCY IN ACCOUNTING
WORK.
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Number 1 (Estimated time — 50 to 60 minutes)
Instructions

Select the best answer for each of the following items
relating to a variety of managerial-accounting problems and
quantitative techniques. Use a soft pencil, preferably No. 2,
to blacken the appropriate space on the separate printed
answer sheet to indicate your answer. Mark only one
answer for each item. Answer all items. Your grade will be
based on your total correct answers.

The following is an example of the manner in which
the answer sheet should be marked:

Item-

97. Gross billings for merchandise sold by Baker Company
to its customers last year amounted to $5,260,000; sales
returns and allowances reduced the amounts owed by
$160,000. Net sales last year for Baker Company were

a. $5,260,000.
b. $5,200,000.
c. $5,100,000.
d. $4,800,000.
Answer Sheet
97. a. i bl i oco e d. oo

Items to be Answered

1. A planned factory expansion project has an estimated
initial cost of $800,000. Using a discount rate of 20%, the
present value of future cost savings from the expansion is
$843,000. To yield exactly a 20% time-adjusted rate of
return, the actual investment cost cannot exceed the
$800,000 estimate by more than

a. $160,000.
b. $20,000.
c. $43,000.
d. $1,075.

Items 2 and 3 are based on the following information:

Standard costs and other data for two component
parts used by Griffon Electronics are presented below:

Part A4 Part BS
Direct material $ 40 $ 8.00
Direct labor 1.00 4.70
Factory overhead 4.00 2.00
Unit standard cost $5.40 $14.70
Units needed per year 6,000 8,000
Machine hours per unit 4 2

Unit cost if purchased $5.00 $15.00

In past years, Griffon has manufactured all of its
required components; however, in 1974 only 30,000 hours
of otherwise idle machine time can be devoted to the
production of components. Accordingly, some of the parts
must be purchased from outside suppliers. In producing
parts, factory overhead is applied at $1.00 per standard
machine hour. Fixed capacity costs, which will not be
affected by any make-buy decision, represent 60% of the
applied overhead.

2. The 30,000 hours of available machine time are to be
scheduled such that Griffon realizes maximum potential
cost savings. The relevant unit production costs which
should be considered in the decision to schedule machine
time are

a. $5.40 for A4 and $14.70 for BS.
b. $5.00 for A4 and $15.00 for B5.
c. $1.40 for A4 and $12.70 for B5.
d. $3.00 for A4 and $13.50 for BS.

3. If the allocation of machine time is based upon poten-
tial cost savings per machine hour, then Griffon should
produce ‘

a. 3,500 units of A4 and 8,000 units of BS.
b. 6,000 units of A4 and 8,000 units of BS.
c. 6,000 units of A4 and 3,000 units of B5.
d.

No units of A4 and 8,000 units of B5.

Items 4 and 5 are based on the following information:

Expected annual usage of a particular raw material is

‘2,000,000 units, and the standard order size is 10,000

units. The invoice cost of each unit is $500, and the cost to
place one purchase order is $80.

4, The average inventory is
a. 1,000,000 units. -
b. 5,000 units.
¢. 10,000 units.
d. 7,500 units.

5. The estimated annual order cost is

a. $16,000.
b. $100,000.
c. $32,000.
d. $50,000.

Items 6 and 7 are based on the following information:

Maintenance expenses of a company are to be ana-
lyzed for purposes of constructing a flexible budget. Exami-
nation of past records disclosed the following costs and
volume measures:
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Highest Lowest

Cost per month $39,200  $32,000
Machine hours 24,000 15,000

6. Using the highdow-point method of analysis, the
estimated variable cost per machine hour is

a. $1.25.
b. $12.50.
c. $0.80.
d. $0.08.

7. Using the high-low technique, the estimated annual
fixed cost for maintenance expenditures is

a. $447.360.
b.. $240,000.
c. $230,400.
d. $384,000.

8. Adams Corporation has developed the following
flexible-budget formula for annual indirect-labor cost:

Total cost = $4,800 + $0.50 per machine hour
Operating budgets for the current month are based

upon 20,000 hours of planned machine time. Indirect-labor
costs included in this planning budget are

a. $14,800.
b. $10,000.
c. $14.400.
d. $10,400.

Items 9 and 10 are based on the following in-
formation:

Gyro Gear Company produces a special gear used in
automatic transmissions. Fach gear sells for $28, and the
Company sells approximately 500,000 gears each year. Unit
cost data for 1973 are presented below:

Direct material $6.00
Direct labor 5.00
Variable Fixed
Other costs: .
Manufacturing $2.00 $7.00
Distribution 4.00 3.00

9. The unit cost of gears for direct-cost-inventory
purposes is

a. §$13.
b. $20.
c. $17.
d. $27.

10. Gyro has received an offer from a foreign manufac-
turer to purchase 25,000 gears. Domestic sales would be
unaffected by this transaction. If the offer is accepted,
variable distribution costs will increase $1.50 per gear for
insurance, shipping, and import duties. The relevant unit
cost to a pricing decision on this offer is

a. $17.00.
b. $14.50.
c. $28.50.
d. §$18.50.

Items 11 and 12 are based on the following in-
formation:

From a particular joint process, Watkins Company
produces three products, X, Y, and Z. Each product may be
sold at the point of split-off or processed further. Addi-
tional processing requires no special facilities, and
production costs of further processing are entirely variable
and traceable to the products involved. In 1973, all three
products were processed beyond split-off. Joint production
costs for the year were $60,000. Sales values and costs
needed to evaluate Watkins’ 1973 production policy
follow:

Additional Costs
and Sales Values
. if Processed Further
Units Sales Values Sales Added
Product Produced at Split-Off Values Costs

X 6,000 $25,000 $42,000  $9,000
Y 4,000 41,000 45,000 7,000
Z 2,000 24,000 32,000 8,000

Joint costs are allocated to the products in proportion
to the relative physical volume of output.

11. For units of Z, the unit production cost most relevant
to a sell-or-process-further decision is

a. $5.
b. $12.
c. %4.
d. $9.

12. To maximize profits, Watkins should subject the
following products to additional processing

a. Xonly.

b. X,Y,and Z.
¢. YandZonly.
d. Zonly.
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13. A sales office of Helms, Inc., has developed the
following probability distribution for daily sales of a
perishable product.

X (Units Sold) P (Sales = X)
100 2
150 5
200 2
250 A

The product is restocked at the start of each day. If the
Company desires a 90% service level in satisfying sales
demand, the initial stock balance for each day should be

a. 250.
b. 160.
c. 200.
d. 150.

14. A quantitative technique which deals with the prob-
lem of supplying sufficient facilities to meet the needs of
production lines or individuals that demand service
unevenly is

a. Regression analysis.

b. PERT.

¢. Queuing theory.

d. Curvilinear analysis.

15. A formal diagram of the 1nterre1at10nsh1ps of complex
time series of activities is

PERT.

The method of least squares.

Linear programming.

Poisson distribution models.

0o

16. A quantitative technique used to discover and evaluate
possible cause-and-effect relationships is
a. Linear programming.

b. PERT.
c. Poisson distribution models.
d. Correlation analysis. .

17. A quantitative technique used to make predictions or
estimates of the value of a dependent variable from given
values of an independent variable(s) is
a. Linear programming.
b. Regression analysis.
¢. Trend analysis.
-d. Queuing theory.

18. A quantitative technique used for selecting the combi-
nation of resources that maximizes profits or minimizes
costs is’

Curvilinear analysis.

Queuing theory.

Dynamic programming.

Linear programming.

peo ow

Number 2 (Estimated time —— 50 to 60 minutes)

You have been assigned to the audit of Wright, Inc., a
manufacturing company. You have been asked to sum-
marize the transactions for the year ended December 31,
1973, affecting stockholders’ equity and other related
accounts, particularly investments and long-term liabilities.
The stockholders’ equity section of Wright’s December 31,
1972, balance sheet follows:

Stockholders’ Equity

Common stock, par value $10; shares autho-
rized 500,000; shares issued 90,000 $ 900,000
Capital in excess of par value 11,250
Retained earnings . 424,689

Less cost of 1,210 shares of common stock
in treasury (36,300
Total ' $1,299,639

You have extracted the following information from
the accounting records and audit working papers.

1. On January 15, 1973, 650 shares of treasury
stock were sold for $20 per share. The 1,210 shares of
treasury stock on hand at December 31, 1972, were pur-
chased in one block in 1968. Wright used the cost method
for recording the treasury shares purchased.

2. On January 26, 1973, a 5% stock dividend was
declared and issued in early February to stockholders of
record on January 31.

3. On February 2, 1973, ninety, $1,000 5-1/2%
bonds due February 1, 1976, were sold at 104 with one
detachable stock purchase warrant attached to each bond.
Interest is payable annually on February 1. The fair value
of the bonds without the stock warrants is 98-4/5. The
detached warrants have a fair value of $52 each and expire
on February 1, 1974. Each warrant entitles the holder to
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purchase ten shares of common stock at $30 per share. On
November 1, 1973, fifty-five stock warrants detached from
the bonds were exercised.

4. On March 6, 1973, subscriptions for 1,400 shares
of common stock were issued at $22 per share, payable
50% down and the balance by March 20. On March 20 the
balance due on 1,200 shares was received and those shares
were issued. The subscriber who defaulted on the 200
remaining shares forfeited his down payment in accordance
with the subscription agreement.

5. On March 31, 1973, Wright paid $146,960 cash
for all of the stock of Buller Company. A summary of
Buller’s adjusted trial balance including operations for the
three months ended March 31, 1973, follows. Fair market
value (FMV) is shown parenthetically when different from

" book value.

Receivables $ 28,901
Land (FMV $96,000) 78,000
Other assets 12,876
Liabilities (35,777)
Common stock (22,180)
Paid-in capital (26,320)
Retained earnings (25,299)
Revenues (97,249)
Expenses 87,048
$ 0

The excess cost over the sum of the fair values of the
net assets acquired as shown on the above adjusted trial
balance was deemed attributable to the future earnings
potential of Buller. This excess cost should be amortized
over the maximum period recommended by generally
accepted accounting principles.

Earnings of Buller from January 1 to March 31, 1973,
were $10,201; earnings from April 1 to December 31,
1973, were $14,434.

' Buller is to retain its separate corporate identity and
operate as a subsidiary. There were no intercompany
accounts requiring elimination or adjustment at December
31, 1973. Wright desires to maintain its accounting records
to produce information for the preparation of its state-
ments (unconsolidated) for issuance to stockholders as the
financial statements of the primary reporting entity.

l
6. On August 31, 1973, Wright exchanged 12,400
previously authorized but unissued shares of its common
stock for all of the stock of Clark Corporation. A summary
of Clark’s balance sheet at August 31, 1973, follows.

Assets
Assets $318,000
$318,000
Liabilities and Stockholders’ Equity
Liabilities $ 39,366
Common stock ($1 par) 104,000
Paid-in capital 80,243
Retained earnings 94,391
$318,000

The combination was appropriately accounted for as a
pooling of interests. Clark’s retained eamnings included
$17,426 of earnings from January 1 to August 31, 1973.
Clark’s earnings from September 1 to December 31, 1973,
were $8,111.

Clark is to retain its separate corporate identity and
operate as a subsidiary. In accordance with generally
accepted accounting principles, the investment in Clark on
Wright’s books is to be recorded at the book value of the
net assets acquired as shown on the above balance sheet;
stockholders’ equity accounts are to be charged and
credited in the same manner as if the companies were
combined (or consolidated). Wright will continue to
account for its investment in Clark by the equity method.
There were no intercompany accounts requiring elimination
or adjustment at December 31, 1973.

Other data:
The market price at which Wright’s common stock
traded on a midwest exchange at various dates follows.

January 2 $19 July 5 $32
January 15 20 August 1 32
January 26 21 August 31 33
March 30 22 September 4 34
April 2 22 October 1 33
May 1 28 November 1 36
June 1 31 ©  December 3 38
June 30 32 December 31 42
Required:

Complete the worksheet on page 6 to summarize the
above transactions of Wright. Your analysis should be pre-
sented in the same order as the facts are given with
corresponding numbers 1 through 6. Entries at December
31, 1973, for bond interest and bond premium and/or
discount amortization are not required. Round all final
calculations to the nearest dollar. Ignore income taxes.
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Number 3 (Estimated time —— 40 to 50 minutes)

Bates Corporation, a manufacturer, is a solvent,
domestic, calendar-year, accrual-basis taxpayer. All of the
corporation’s outstanding stock is owned equally by two
brothers, John and Fred Bates. The controller has been
unable to compute the corporation’s 1973 taxable income
or tax liability because he is unfamiliar with the tax treat-
ment of several property dispositions. You have been
requested to assist the controller in determining the appro-

priate tax treatment of the property dispositions in
question and to determine the corporation’s. 1973 taxable
income. ‘
The controller has prepared a schedule of these
dispositions and a memorandum of significant information
relevant to these properties. All depreciation has been
correctly computed and recorded on the books by the con-
troller, but no entries have been made to adjust the asset
and related accounts for the property dispositions. The
controller’s schedule and memorandum appear below.

Schedule of Property Dispositions*

Accumulated Cash Fair Market Nature of
Cost Depreciation Proceeds Value Disposition .

Merchandise inventory $ 4,800 $ - 5 - $ 7,000 Distribution
Marketable securities 8,300 - - 9,650 Consulting fee
Marketable securities 3,500 - — 4,400 Settlement of debt
Land 22,000 - 20,000 20,000 Condemnation
Building 6,800 - - 2,100 - Demolition
Warehouse 60,000 7,978 58,000 58,000 Destruction by fire
Machine 4,000 1,700 600 3,300 Trade-in
Furniture 8,200 6,560 - 1,900 Contribution
Automobile 6,000 2,250 3,000 4,300 Sale
Investment — Subo Corp. 16,500 — — - Worthless security
Patent 13,000 - 31,000 31,000 Sale

*All property disposed of has been held for more than six months.

Additional information regarding the property dis-
positions follows:

Merchandise inventory On January 22, inventory,
priced by the FIFO method, was distributed to a stock-
holder who assumed a $5,600 account payable in
connection with the distribution.

Marketable securities On May 8, certain securities
were transferred to a nonstockholder as a fee for consulting
services of $9,650 in connection with current operations.
Other securities were transferred to him in settlement of a
$4,400 liability appearing on the corporate books.

' Land On February 15, a condemnation award was
received as consideration for unimproved land held primar-
ily as an investment, and on March 31, another parcel of
unimproved land to be held as an investment was purchased
at a cost of $21,500.

Building On April 2, land and building were pur-
chased at a total cost of $34,000 of which 20% was
allocated to the building on the corporate books. The real
estate was acquired with the intention of demolishing the
building and this was accomplished during the month of
November. Cash proceeds received in November represent
the net proceeds from demolition of the building.

Warehouse On June 30, the warehouse was destroy-
ed by fire. The warehouse was purchased January 2, 1970,
and had a useful life of 50 years. Depreciation was claimed
under the declining-balance method (two times the
straight-line rate) with no estimated salvage value. On

December 27, part of thé insurance proceeds was used to
purchase a replacement warehouse at a cost of $53,000.

Machine On December 26, the machine was
exchanged for another machine having a fair market value
of $2,700 and cash of $600 was received.

Furniture On August 15, fumniture was contributed
to a qualified charitable organization. No other contribu- -
tions were made or pledged during 1973.

Automobile On November 3, the automobile was
sold to Fred Bates, a stockholder.

Investment in Subo Corp. On December 31, the
stock of Subo Corp. was declared worthless. The invest-
ment represents ownership of 100% of the stock of Subo,
which has always derived all of its gross income from
manufacturing operations. Subo has never filed a consoli-
dated tax return with Bates.

Patent On November 18, the patent was sold to an
independent third party. The patent had been held as an
investment. )

Required:

Assuming Bates Corporation’s net income before
accounting for the disposition of the above property is
$23,650, prepare a schedule calculating the corporation’s
unconsolidated taxable income for 1973 in accordance with
the current Intemnal Revenue Code and Tax Regulations.
Indicate whether each gain or loss is capital or ordinary.
Include supporting schedules in good form for the disposi-
tion of the warehouse, machine, and furniture.
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Number 4 (Estimated time —— 40 to 50 minutes)

Ruwe Corporation has decided that in the preparation
of its 1973 financial statements two changes will be made
from the methods used in prior years:

1. Depreciation. Ruwe has always used the de-
clining-balance method for tax and financial reporting
purposes but has decided to change during 1973 to the
straight-line method for financial reporting only. The effect
of this change is as follows:

Excess of Accelerated
Depreciation Over
Straight-line Depreciation

Prior to 1972 $1,300,000
1972 101,000
1973 99,000

$1,500,000

Depreciation is charged to cost of sales and to selling,
general, and administrative expenses on the basis of 75%
and 25%, respectively.

2. Bad debt expense. In the past Ruwe has recog-
nized bad debt expense equal to 1.5% of net sales. After
careful review it has been decided that a rate of 2% is more
appropriate for 1973. Bad debt expense is charged to sell-
ing, general, and administrative expenses.

The following information is taken from preliminary
financial statements, prepared before giving effect to the
two changes:

Ruwe Corporation
CONDENSED BALANCE SHEET
December 31, 1973
With Comparative Figures for 1972

1973 1972
Assets

Current assets $43,561,000 $43,900,000

Fixed assets, at cost 45,792,000 43,974,000
Less accumulated depre-
ciation 23,761,000 22,946,000

$65,592,000 $64,928,000

Liabilities and Stockholders’
Equity

Current liabilities $21,124,000 $23,650,000

Long-term debt - 15,154,000 14,097,000
Capital stock 11,620,000 11,620,000
Retained earnings 17,694,000 15,561,000

$65,592,000 $64,928,000

Ruwe Corporation
INCOME STATEMENT
For the Year Ended December 31, 1973
With Comparative Figures for 1972

1973 - 1972
Net sales - - $80,520,000 $78,920,000
Cost of sales 54,847,000 53,074,000

25,673,000 25,846,000
Selling, general, and adminis- :
trative expenses 19,540,000 18,411,000
6,133,000 7,435,000
Other income (expense), net  (1,198,000) (1,079,000)
Income before federal income

taxes 4,935,000 6,356,000
Federal income taxes 2,368,800 3,050,880
Net income $ 2,566,200 § 3,305,120

There have been no timing differences between any
book and tax items prior to the above changes. The effec-
tive tax rate is 48%.

Required:

Based on APB Opinion No. 20, ‘“Accounting
Changes,” compute for the items listed below the amounts
which would appear on the comparative (1973 and 1972)
financial statements of Ruwe Corporation after adjustment
for the two accounting changes. Show amounts for both
1973 and 1972 and prepare supporting schedules as
necessary.

Accumulated depreciation.

Deferred tax liability.

Selling, general, and administrative expenses.
Current portion of federal income tax expense.
Deferred portion of federal income tax expense.
Retained earnings.

Pro forma net income.

LI NN
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Number 5 (Estimated time —— 40 to 50 minutes)

Bencivenga Company has prepared its financial state-
ments for the year ended December 31, 1973, and for the
three months ended March 31, 1974, You have been asked
to prepare a statement of changes in financial position on a
working capital basis for the three months ended March 31,
1974. The company’s balance sheet data at December 31,
1973, and March 31, 1974, and its income statement data
for the three months ended March 31, 1974, follow. You
have previously satisfied yourself as to the correctness of
the amounts presented.

Balance Sheet

December 31, 1973 March 31, 1974

Cash $ 25,300 $ 87,400
Marketable invest-

ments 16,500 7,300
Accounts receivable,

net 24,320 49,320
Inventory 31,090 48,590

Total current

assets $ 97,210 $192,610

Land 40,000 18,700
Building 250,000 250,000
Equipment - 81,500
Accumulated depre-

ciation (15,000) (16,250)
Investment in 30%-

owned company 61,220 67,100
Other assets 15,100 15,100

Total $448,530 $608,760
Accounts payable $ 21,220 $ 17,330
Dividend payable - 8,000
Income taxes pay-

able - 34,616

Total current lia- . '

bilities $ 21,220 $ 59,946

Other liabilities 186,000 186,000
Bonds payable 50,000 115,000
Discount on bonds

payable (2,300) (2,150)
Deferred income

taxes 510 846
Preferred stock 30,000 —
Common stock 80,000 110,000
Dividends declared - (8,000)
Retained earnings g 83,100 147,118

Total $448,530 $608,760

Income Statement Data
For the
Three Months
Ended March 31, 1974
Sales $242 807
Gain on sale of marketable in-
vestments 2,400
Equity in eamings of 30%-owned
company 5,880
Gain on condemnation of land 10,700
$261,787
Cost of sales 138,407
" General and administrative expenses 22,010
Depreciation 1,250
Interest expense 1,150
Income taxes 34,952
' $197,769
Net income i $ 64,018

Your discussion with the company’s controller and a
review of the financial records have revealed the following
information.

1. On January 8, 1974, the company sold market-
able securities for cash. These securities had been held for
more than six months.

2. The company’s preferred stock is convertible
into common stock at a rate of one share of preferred for
two shares of common. The preferred stock and common
stock have par values of $2 and $1, respectively.

3. On January 17, 1974, three acres of land were
condemned. An award of $32,000 in cash was received on
March 22, 1974. Purchase of additional land as a replace-
ment is not contemplated by the company.

4., On March 25, 1974, the company purchased
equipment for cash.

5. On March 29, 1974, bonds payable were issued
by the company at par for cash.

6. The investment in 30%-owned company included
an amount attributable to goodwill of $3,220 at December
31, 1973. Goodwill is being amortized at an annual rate of
$480.

7. The company’s tax rate is 40% for regular
income and 20% for capital gains.

Required:

Prepare in good form a statement of changes in finan-
cial position, including any supporting schedules needed, on
a working capital basis for Bencivenga Company for the
three months ended March 31, 1974,



Uniform Certified Public Accountant Examination
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EXAMINATION IN ACCOUNTING PRACTICE — PART 1I

May 9, 1974; 1:30 to 6:00 P.M.

NOTE TO CANDIDATES: Suggested time allotments are as follows:

Estimated Minutes
All questions are required: Minimum  Maximum

A P 40 50

NO. 2 e 40 50
No.3 .......... e e e e e e 50 60

NO. A e e 50 60

NO. 5 e ettt e e 40 50
Total oo e 220 270

INSTRUCTIONS TO CANDIDATES

You must arrange the papers in numerical order of the 3. Fourteen-column sheets should not be folded until all
problems. If more than one page is required for a sheets, both wide and narrow, are placed in the proper
solution, number the pages in sequence for that sequence and fastened together at the top left corner.
problem with the lead schedule first, followed by All fourteen-column sheets should then be wrapped
supporting computations. For instance, if two pages around the back of the papers.

are used for Problem No. 3, you would show Problem

3, Page 1 of 2 and Page 2 of 2. .

The printed answer sheet provided for the objective- 4. A CPA is continually confronted with the necessity of

type items should be considered to be Page 1.

Enclose all scratch sheets. Failure to enclose scratch
sheets may result in loss of grading points. Scratch
sheets need not have page numbers, but you should

show the problem number and place them -

immediately following the problem to which they
relate.

expressing his opinions and conclusions in written
reports in clear, unequivocal language. Although the
primary purpose of the examination is to test the
candidate’s knowledge and application of the subject
matter, the ability to organize and present such
knowledge in acceptable written language will be
considered by the examiners.

DISREGARD OF THESE INSTRUCTIONS MAY BE CONSIDERED AS INDICATING INEFFICIENCY IN ACCOUNTING
WORK.
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Number 1 (Estimated time —— 40 to 50 minutes)
Instructions

Select the best answer for each of the following items
relating to a variety of financial-accounting problems. Use a
soft pencil, preferably No. 2, to blacken the appropriate
space on the separate printed answer sheet to indicate your
answer. Mark only one answer for each item. Answer all
items. Your grade will be based on your total correct
answers.

The following is an example of the manner in which
the answer sheet should be marked:

Item

97. Gross billings for merchandise sold by Baker Company
to its customers last year amounted to $5,260,000; sales
returns and allowances reduced the amounts owed by
$160,000. Net sales last year for Baker Company were

a. $5,260,000.

b. $5,200,000.
c. $5,100,000.
d. $4,800,000.
Answer Sheet
97. a. iz byoimiiiinoc. weeessm d. i

Items to be Answered

1. On January 2, 1973, MacAngus Co., as lessor, leased
machinery to Yen Co. for $1,000 per year for ten years.
The machinery is manufactured by MacAngus at a cost of
$4,000 and has a normal selling price of $6,000. If Yen Co.
had ‘borrowed money to purchase the machinery outright,
it would have had to pay interest at 12%. The estimated
salvage value of the machinery at the end of its ten years of
useful life is $1,000.

The present value of $1 for 10 periods at 12% per
period is $.322.

The present value of an annuity of $§1 per period for
10 periods at 12% per period is $5.650.

Assume that this lease is, in substance, an installment
sale of the property by MacAngus. Ignoring income taxes,

the amount of gross profit which MacAngus should

recognize at the date the lease is signed is

2. $2,000.
b. $1,650.
c. $650.
d. $1,328.

2. On January 2, 1969, Lewis Corporation issued
$1,000,000 of 8% bonds at 98 due December 31, 1978.
Legal and other costs of $30,000 were incurred in
connection with the issue. Interest on the bonds is payable
annually each December 31. The $30,000 issue costs are
being deferred and amortized on a straightline basis over
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the ten-year term of the bonds. The discount on the bonds
is also being amortized on a straight-line basis over the ten
years (straight-line being immaterially different in effect
from the preferable “interest method”).

The bonds are callable at 101 (that is, at 101% of face
amount), and on January 2, 1974, Lewis called $500,000
face amount of the bonds and retired them.

Ignoring income taxes, the amount of loss, if any, to
be recognized by Lewis as a result of retiring the $500,000
of bonds in 1974 is

a. $0.

b. $5,000.

¢. $10,000.
d. $17.500.

Items 3, 4, and 5 are based on the following in-
formation:

On January 1, 1973, Lodge Co. sold machinery on the
following terms: The buyer signed a noninterest-bearing
note obligating him to pay $1,000 per year for ten years,
the first payment to be made on December 31, 1973. Had
the buyer tried to arrange for financing of the purchase
through an independent financing institution, a 10% rate of
interest would have been charged. In this situation, APB
Opinion No. 21 requires that interest be imputed for
financial-reporting purposes.

Assume that, for income tax purposes, interest must
also be imputed, but at a 5% rate. Lodge’s income tax rate
is 50%.

The following are taken from tables of present values:

Present valu(_e of 81 for 10 periods

5% per period $0.6139
10% per period $0.3855

Present value of an annuity of $1 per period for 10 periods

5% per period $7.7217
10% per period $6.1446

3. The amount which should be recorded by Lodge for
financial-reporting purposes as a discount on the note
receivable at January 1, 1973, is (rounded to the nearest

dollar)
a. $6,145.
b. $3,855.
c. $2,278.
d. $1,577.

4. The amount which should be recorded by Lodge on
January 1, 1973, as deferred income taxes relative to the
sale of the machinery is

a. $1,928.
b. $789.
c. $1,139.
d. $0.
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5. In 1973, Lodge should recognize interest income on
the note of

a. $386.
b. $1,000.
c. $614.
d. $772.

6. Baker Co., a manufacturer, had inventories at the
beginning and end of its current year as follows:

Beginning End
Raw materials $22,000 $30,000
Work in process 40,000 48,000
Finished goods 25 ,000 18,000

During the year the following costs and expenses were
incurred:

Raw materials purchased $300,000
Direct-labor cost 120,000
Indirect factory labor 60,000

Taxes and depreciation on factory
building 20,000

Taxes and depreciation on salesroom and
- .office 15,000
Salesmen’s salaries 40,000
Office salaries 24,000

Utilities (60% applicable to factory, 20%
to salesroom, and 20% to office) 50,000

Baker’s cost of goods sold for the year is

a. $514,000.
b. $521,000.
c. $522,000.

d. $539,000.

Items 7 and 8 are based on the following information:

Pacter Co., an installment seller, earns a $300 pretax
gross profit on each installment sale. For financial-reporting
purposes the entire $300 is recognized at the time of sale,
but for income tax purposes the installment method of
accounting is used.

Assume Pacter makes one sale in 1971, another sale in
1972, and a third sale in 1973. In each case, one-third of
the gross sales price is collected in the year of sale,
one-third in the next year, and the final installment in the
next year. -

. 7. Assuming an income tax rate of 50%, the amount
which should be shown on Pacter’s December 31, 1973,
balance sheet as “deferred income taxes™ relative to the
three sales is

a. $100.
b. $150.
c. $200.
d. $300.
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‘BipAssume that on January 1, 1973, the tax rate
increaséd to 60% from 50%. The appropriate amount to
report as “deferred income taxes” under the “gross change
method” on Pacter’s December 31, 1973, balance sheet is

a. $120.
b. $170.
c. $270.
d. $300.

9. On January 2, 1973, Lang Co. issued at par $10,000
of 4% bonds convertible in total into 1,000 shares of Lang’s
common stock. These bonds are common stock equivalents
for purposes of computing earnings per share. No bonds
were converted during 1973.

Throughout 1973 Lang had 1,000 shares of common
stock outstanding. Lang’s 1973 net income was $1,000.
Lang’s income tax rate is 50%.

No potentially dilutive securities other than the
convertible bonds were outstanding during 1973. Lang’s
primary earnings per share for 1973 would be

a. $1.00.
b. $.50.
c. $.70.
d. $.60.

10. Certain information relative to the 1973 operations of
Foley Co. follows: :

Accounts receivable, January 1, 1973 $ 8,000
Accounts receivable collected during 1973 26,000
Cash sales during 1973 5,000
Inventory, January 1, 1973 12,000
Inventory, December 31, 1973 11,000
. Purchases of inventory during 1973 20,000
Gross profit on sales (gross margin) 9,000

What is Foley’s accountsreceivable balance at
December 31, 19737

a. $7,000.

b. $12,000.
c. $17,000.
d. $13,000.

11. On January 2, 1973, Ben Co. purchased 40% of the
outstanding common stock of Clarke Co. for $1,000. On
that date, Clarke’s net assets were $2,000 and Ben cannot
attribute the excess of the cost of its investment in Clarke
over its equity in Clarke’s net assets to any particular
factor.

Clarke’s 1973 net income is $250. Ben plans to retain
its investment in Clarke indefinitely. Ben accounts for its
investment in Clarke by the equity method. The maximum
amount which could be included in Ben’s 1973 income
before taxes to reflect Ben’s “equity in net income of
Clarke™ is

a. $95.

b. $100.
c. $200.
d. $245.



Accounting Practice —— Part 11

12. On December 31, 1973, the stockholders’ ‘equity
section of the balance sheet of Mason Co. was as follows: ..

Common stock (Par value $1, 1,000 shares
authorized, 300 shares issued and out-

standing) $ 300
Additional paid-in capital 1,800
Retained earnings 2,000

$4,100

On January 2, 1974, the board of directors declared a
stock dividend of one share for each three shares owned.
Accordingly, 100 additional shares of stock were issued. On
January 2 the fair market value of Mason’s stock was $10
per share.

~ The most appropriate presentation of Mason’s stock-
holders’ equity on January 2, 1974, following the issuance
of the 100 additional shares is
a. Common stock (Par value $1,
1,000 shares authorized, 400

shares issued and outstanding) $ 400
Additional paid-in capital 1,700
Retained earnings 2,000

$4,100
b. Common stock (Par value $1,

1,000 shares authorized, 400

shares issued and outstanding) $ 400
Additional paid-in capital 1,800
Retained earnings 1,900

$4,100
c¢. Common stock (Par value $1,

1,000 shares authorized, 400

shares-issued and outstanding) $ 400
Additional paid-in capital 2,700
Retained earnings 1,000

$4,100
d. Common stock (Par value $1,
1,000 shares authorized, 400
shares issued and outstanding) $ 400

Additional paid-in capital 2,400
Retained earnings

13. The 1973 net income of Mack Co. was $100,000, and
100,000 shares of its common stock were outstanding
during the entire year. In addition, there were outstanding
options to purchase 10,000 shares of common stock at $10
per share. These options were granted in 1971 and none had
been exercised by December 31, 1973. Market prices of
Mack’s common stock during 1973 were:

January 1
December 31
Average price

$20 per share
$40 per share
$25 per share
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The amount which should be shown as Mack’s fully diluted
earnings per share for 1973 is (rounded to the nearest cent)

a. $100,000

110,000 shares $91.
b §%J(T(S):_gg—g—shares = 59
& ill—g_(é:_gggﬁxares = 394 L
d. $100,000 = $.93.

107,500 shares

14. Goldstein Co., a specialty clothing store, uses the
retail-inventory method. The following information relates
to 1973 operations:

Inventory January 1, 1973, at cost $14,200
Inventory January 1, 1973, at sales price 20,100
Purchases in 1973 at cost 32,600
Purchases in 1973 at sales price 150,000
Additional markups on normal sales price 1,900
Sales (including $4,200 of items which

were marked down from $6,400) 60,000

The cost of the December 31, 1973, inventory detes-
mined by the retail-inventory method is

a. $9,800.
b. $6,370. .
c. $6,743.
d. $6,543.

15. On January 1, 1973, Ramos Co. signed a ten-year
noncancellable lease for certain machinery. The terms of
the lease call for payments of $10,000 per year to be made
by Ramos for ten years.

The machinery has a twenty-year life and no salvage
value. Ramos uses the straight-line depreciation method on
all depreciable assets.

Assume that, in substance, this lease is an installment
purchase of the machinery by Ramos, and accordingly
should be capitalized. Assuming a 10% discount rate, the
lease payments have a present value of $61,440.

Relative to the capitalized lease "described above,
Ramos’ 1973 income statement should include

a. Interest expense of $10,000, and depreciation

expense of $3,072.
. Interest expense of $10,000 only.

c. Interest expense of $6,144 and depreciation
expense of $3,072.

d. Interest expense of $6,928 and depreciation
expense of $3,072.
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16. On July 1, 1973, Custer Co. granted John Jones, an

employee, an option to buy 100 shares of Custer Co. stock

for $20 per share, the option exercisable for five years from
date of grant. Jones exercised his option on September 1,
1973, and sold his 100 shares on December 1, 1973.

Quoted market prices of Custer Co. stock during 1973
were:

July 1 $20 per share
September 1 $24 per share
December 1 $27 per share

As a result of the option granted to Jones, Custer
should recognize compensation expense on its books in the
amount of

a. $0.

b. $300.
c. $400.
d. $700.

Number 2 (Estimated time —— 40 to 50 minutes)
Instructions

Select the best answer for each of the following items
relating to the federal income taxation of individuals. Use a
soft pencil, preferably No. 2, to blacken the appropriate
space on the separate printed answer sheet to indicate your
answer. The answers should be selected in accordance with
the current Internal Revenue Code and Tax Regulations.
Mark only one answer for each item. Answer all items.
Your grade will be based on your total correct answers.

17. Elizabeth Moore owned a 50% interest in a partner-
ship in which capital is a material income-producing factor.
Effective January 1, 1973, pursuant to a model custodian
act, she gave 10% of her interest to her minor nephew and a
20% interest to her minor niece. The nephew’s distributive
share of income is used to satisfy part of his father’s (Mrs.
Moore’s brother) support obligation, while the niece’s share
is deposited in her own savings account. Assuming the
partnership income for 1973 is $10,000, Mrs. Moore’s
original 50% distributive share should be included in the
respective gross incomes of
a. Mrs. Moore as $4,000 and her niece as $1,000.
b. Mrs. Moore as $3,500 and her brother as $1,500.
c. Mrs. Moore as $3,500, her niece as $1,000, and
her brother as $500.
d. Mrs. Moore as $3,500, her niece as $1,000, and
her nephew as $500.
e. None of the above.

18. Bill Walden received a $2,100 grant from his employer
and, as required by his employer, used the money to take
three graduate-school courses during the period September
1 to December 31, 1973. Walden is not a candidate for a
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degree and has never received a scholarship or fellowship
grant before. He had previously met the minimum
educational requirements for his employment position;
however, due to new requirements established by his
employer, these courses were necessary for him to retain his
job. In computing his 1973 taxable income, Walden should
include
a. Gross income of $2,100 and an education
expense deduction of $2,100.
b. Gross income of $2,100 and no education
expense deduction.
¢. Gross income of $900 and an education expense
" deduction of $2,100.
d. Gross income of $0 and an education expense
deduction of $2,100.
e. None of the above.

19. The following information is available with respect to
a stock option granted to Paul Sanders by his employer
pursuant to an employee stock purchase plan:

Per Share

Fair market value on the date of

grant, March 1, 1970 ‘ $10.00
Option price on the date of grant,

March 1, 1970 9.00
Fair market value on the date of

exercise, July 1, 1972 9.70
Selling price on August 1,1973 11.00

Number of shares acquired and
sold: 100

The effect on Sanders’ 1973 taxable income resulting
from the sale of the 100 shares should be

a. Long-term capital gain of $200.

b. Long-term capital gain of $130.

c. Long-term capital gain of $130; ordinary income
of $70.

d. Long-term capital gain of $100; ordinary income
-of $100. ’

e. None of the above.

20. Bob Jones is sole beneficiary of a trust which requires

‘that all income, but no corpus, be distributed currently.

The trust’s distributable net income for 1973 was $20,000,
of which $4,000 is a long-term capital gain allocated to
income and $2,500 is interest on municipal bonds. Jones
received a $15,000 distribution on December 20, 1973, and
the remaining $5,000 on January 10, 1974. Assuming Jones
has no other income for 1973, his adjusted gross income
should be

a. $15,500.
b. $13,500.
c. ' $13,125.
d. $11,625.
e. None of the above.
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21. On December 20, 1973, Mr. and Mrs. Garrison: pur-
chased four tickets for a New Year’s Eve party at theéir
church, a qualified charitable organization. Each ticket cost
$75 and had a fair market value of $50. The Garrisons gave
two of the tickets to a needy family in the community. Mr.
Garrison tended bar at the party from 8 PM to 4 AM and
was paid $40. The usual charge for such services is $80.
Immediately before midnight, Mr. Garrison pledged $200
to the building fund and delivered a check for that amount
on January 2, 1974. Of the amounts described above, the
total amount which the Garrisons can include as a chari-
_ table contribution deduction for 1973 on a joint return is

a. $340.

b. $140.

c. $100.

d. $50.

e. None of the above.

22. On January 24, 1973, Mike Dalton sold stock with a
cost of $3,800 to his brother Ned for $3,000, its fair
market value. On April 20, 1973, Ned sold the same stock
for $3,600 to a friend in a bona fide transaction. In 1973 as
a result of these transactions

‘a. Ned has a nonrecognized gain of $600.

Ned has a recognized gain of $600.

Ned has a recognized loss of $200.

Mike has a recognized loss of $800.

None of the above.

oo ow

23. On February 15, 1973, Barry Waters, age 52, sold his
personal residence which was purchased May 8, 1965, at a
cost of $35,000. The contract price was $50,000, and he
received a down payment of $12,500. No other payments
were received in 1973, and Mr, Waters elected to report the
sale on the installment method. On October 10, 1973, he
purchased another principal residence at a price of $45,000.
The 1973 tax effect of these transactions, before consider-
ing the 50% long-term capital gain deduction and disregard-
ing selling expense or other adjustments to basis and
imputed interest, should be
a. Recognized gain of $3,750 and a basis of the
new residence of $45,000.
b. Recognized gain of $3,750 and a basis of the
new residence of $35,000.
c. Recognized gain of $1,250 and a basis of the
new residence of $40,000.
d. Recognized gain of $1,220 and a basis of the
new residence of $35,000.
e. None of the above.
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24, On March 12, 1973, Ivan Tumer was injured in a
truck accident in the course of his employment. As a result
of injuries sustained, he received the following payments in
1973: »

Damages for personal injuries $5,000
Workmen’s compensation 500
Reimbursement from his employer’s

accident and health plan for medi-

cal expenses paid by Turner in

1973. (The employer’s contribu-

tion to the plan was $75 in 1973.) 750

The amount to be included in Turner’s 1973 gross
income should be

a. $6,250.

b. $5,000.

c. $750.

d. $75.

e. None of the above.

25. On January 2, 1971, Mary Strom received a gift of an
electric. typewriter with a fair market value of $350 and an
original cost (basis) to the donor of $500. There was no
applicable gift tax. During 1971 and 1972 the typewriter

~was used in Strom’s business and depreciated on the

straightline basis over a ten-year remaining useful life with
no salvage value. On January 2, 1973, it was sold for $280.
The loss that Strom can deduct in computing her 1973
taxable income is ’

a. $0.

b. $70.
c. $120.
d. $220.

e. None of the above.

26. Al Rivers, a cash basis taxpayer, died on September

.30, 1973. From January 1 until his death he received a

salary of $15,000. In addition, he earned commissions of
$6,500 which were not received, although a check for
$2,000 had been available since September 15, 1973. On
December 15, 1973, Mr. Rivers’ widow, Paula, received a
$6,000 death benefit from his employer in consideration of
his past services rendered. Assuming a joint retum is
properly filed, gross income of Mrs. Rivers and the
decedent for 1973 should be

a. $27,500.
b. $23,000.
c. $18,000.
d. $16,000.
e. None of the above.
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'27. Arnold and Jane Stevens were divorced in February
1973. Specific requirements of the divorce decree and Mr.
Stevens’ performance of those requirements follow:

e  Transfer title in the personal residence to Jane as
part of a lump sum property settlement. On the day of
transfer his basis was $24,000, the fair market value was
$27,000, and the property was subject to a mortgage of
$20,000.

e  Make the mortgage payments on the twenty-year
mortgage. He paid $1,000 in 1973.

e Pay Jane $525 per month of which $300 is
specified as child support. He made ten such payments in
1973,

e Repay a $1,500 loan to Jane which he did on
March 1, 1973.

Assuming Jane Stevens has no other income, her 1973
gross income should be

a. $6,750.
b. $4,750.
c. $3,750.
d. $3,250.
e. None of the above.

28. Stan Clark had the following transactions with the
Endo Corporation.

Purchase of 1,000 shares of common stock,

October 1, 1965 $20,000
Loan to corporation, February 1, 1971 5,000
Purchase of automobile from corporation,

fair market value $4,500, March 1,

1973 3,000
Legal advice concerning investment, July 1,

1973 500

The stock became worthless and'the loan uncollectible
as of December 31, 1973, at which time there was a re-
tained-earnings deficit of $100,000. The corporation sus-
tained a $15,000 operating loss in 1973. Ignoring the
dividend exclusion, what is the 1973 tax effect of these
transactions to Clark?

a. A long-term capital loss of $23,500 and an
itemized deduction of $500.

b. Along-term capital loss of $24,000.

c. A long-term capital loss of $25,000, ordinary
income of $1,500, and an itemized deduction of
'$500.

d. A long-term capital loss of $25,500 and ordinary
income of $1,500.

e. None of the above.
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29. 0On November 1, 1958, Sam Lemer leased a building
to Kenneth Tate for a period of fifteen years at a monthly
rental of $400 with no option to renew. At that date the
building had a remaining useful life of twenty years.

Prior to taking possession of the premises; Tate made
improvements at a cost of $20,000. These improvements
had an estimated useful life of twenty years at the
commencement of the lease period. The lease expired on
October 31, 1973, at which point the improvements had a
fair market value of $3,000. The amount Lerner should
include in his 1973 gross income resulting from the leased

building is
a. $12,000.
b. $9,000.
c. $7,000.
d. $4,000.

None of the above.

(¢}

30. Dan Paley, Fred Queenan, and Gary Rosen are
partners, sharing profits and losses equally. On May 15,
1971, Paley sold land with a cost basis of $22,000 to the
partnership at its fair market value of $25,000. On May 1,
1973, Queenan purchased the same land from the partner-
ship for $31,000, its fair market value. The 1973 gain to
the partners as a result of the sale to Queenan should be

a. Paley $4,500, Queenan $0, and Rosen $4,500.

b. Paley $3,000, Queenan $0, and Rosen $3,000.

c. Paley $2,000, Queenan $2,000, and Rosen

$2,000.
d. Paley $0, Queenan $3,000, and Rosen $3,000.
e. None of the above.

31. Irving Aster, Dennis Brill, and Robert Clark were
partners who shared profits and losses equally. On February
28, 1973, Aster sold his interest to Phil Dexter. On March .
31, 1973, Brill died, and his estate held his interest for the
remainder of the year. The partnership continued to
operate and for the fiscal year ending June 30, 1973, it had
a profit of $45,000. Assuming that partnership income was
earned on a pro rata monthly basis and that all partners
were calendar year taxpayers, the distributive shares to be
included in 1973 gross income should be
a. Aster $10,000, Brill $0, Estate of Brill $15,000,
Clark $15,000, and Dexter $5,000.
b. Aster $10,000, Brill $11,250, Estate of Brill
$3,750, Clark $15,000, and Dexter $5,000.
c. Aster $0, Brill $11,250, Estate of Brill $3,750,
Clark $15,000, and Dexter $15,000.
d. Aster $0, Brill $0, Estate of Brill $15,000, Clark
$15,000, and Dexter $15,000.
e. None of the above.
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Number 3 (Estimated time — 50 to 60 minutes)

The Longhorn Manufacturing Corporation produces
only one product, Bevo, and accounts for the production of
Bevo using a standard-cost system.

At the end of each year, Longhorn prorates all
variances among the various inventories and cost of sales.
Because Longhorn prices its inventories on the first-in,
first-out basis and all the beginning inventories are used
during the year, the variances which had been allocated to
the ending inventories are immediately charged to cost of
sales at the beginning of the following year. This allows
only the current year’s variances to be recorded in the
variance accounts in any given year,

Following are the standards for the production of one
unit of Bevo: 3 units of item A @ $1.00 per unit; 1 unit of
item B @ $.50 per unit; 4 units of item C @ $.30 per unit;
and 20 minutes of direct labor @ $4.50 per hour. Separate
variance accounts are maintained for each type of raw
material and for direct labor. Raw material purchases are
recorded initially at standard. Manufacturing overhead is
applied at $9.00 per actual direct labor hour and is not
related to the standard-cost system. There was no over-
applied or underapplied manufacturing overhead at
December 31, 1972.

After proration of the variances, the various inven-
tories at December 31, 1972, were priced as follows:

Raw Material
Number of Unit
Item Units Cost Amount
A 15,000 $1.10 $16,500
B 4,000 52 2,080
C 20,000 32 6,400
$24.980
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Work in Process

9,000 units of Bevo which were 100% complete as to
items A and B, 50% complete as to-item C, and 30% com-
plete as to labor. The composition and valuation of the
inventory follows:

Item Amount

A $28,600

B 4,940

C 6,240
Direct labor 6,175
5,955

Overhead 11,700
$57,655

Finished Goods

4,800 units of Bevo composed and valued as follows:

Item Amount

A $15,180

B 2,704

. C 6,368
Direct labor 8,540
32,792

Overhead 16,200
$48,992

Following is a schedule of raw materials purchased
and direct labor incurred for the year ended December
31,1973. Unit cost of each item of raw material and direct-
labor cost per hour remained constant throughout the
year.
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Purchases
Number of Unit
Item Units or Hours Cost Amount
A 290,000 $1.15 $333,500
B 101,000 .55 55,550
C 367,000 35 128,450
Direct labor 34,100 4.60 156,860

During the year ended December 31, 1973, Longhorn
sold 90,000 units of Bevo and had ending physical inven-
tories as follows:

Raw Materials

Number of
Item v Units
A 28,300
B 2,100
C 28,900
Work in Process

7,500 units of Bevo which were 100% complete as to
items A and B, 50% complete as to item C, and 20% com-
plete as to labor, as follows:

Number of
Item Units or Hours
A 22,900
B : 8,300
C 15,800
Direct labor 800
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Finished Goods

5,100 units of Bevo, as follows:

Number of
Item Units or Hours
A 15,600
B 6,300
C 21,700

Direct labor 2,050
There was no overapplied or underapplied manu-
facturing overhead at December 31, 1973.

Required:

Answer each of the following questions. Supporting
computations should be prepared in good form.

a. What was the charge or credit to cost of sales at
the beginning of 1973 for the variances in the December
31, 1972, inventories?

b. What was the total charge or credit to the three
material price-variance accounts for items A, B, and C for
the year ended December 31, 19737

¢.  What was the total charge or credit to the three
material quantity-variance accounts for items A, B, and C
for the year ended December 31, 19737

d. What was the total charge or credit to the
direct-labor rate-variance account for the year ended
December 31, 19737

e. What was the total charge or credit to the
direct-labor efficiency-variance account for the year ended
December 31, 1973?
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Number 4 (Estimated time — 50 to 60 minutes)

You have been asked to review and prepare any neces-
sary adjustments for the financial statements of Maneri
Electronics, Inc., for the years ended December 31, 1972
and 1973. Maneri received an unqualified opinion on its
December 31, 1971, financial statements. You have
extracted the following trial balances from the records.

December 31, December 31,

1972 1973
Dr. (Cr.) Dr. {(Cr.)

Cash $ 62,300 $ 71,297
Accounts receivable — mini

calculators 19,500 6,000
Accounts receivable — other 34,300 45,299
Inventory — mirnii calculators 7,500 27,500
Inventory — other 89,500 92,019
Work-in-process inventory 7,307 9,409
6.5% note receivable 10,000 10,000
Building 257,220 257,220
Other assets 46,539 47,379
Other liabilities (128,863) (143,146)
6.5% construction loan (168,000) -
6.5% mortgage payable -~ (156,000)
Common stock (185,000) (185,000)
Retained earnings (65,012) (52,303)
Sales — mini calculators (60,000) -
Sales — other (293,814) (323,111)
Service department fees for

computer-X (7,200) (9,612)
Cost of sales — mini calcula-

tors 40,000 —
Cost of sales — other 196,000 206,000
Interest income on 6.5% note

receivable — (650)
Interest on construction loan 11,700 —
Interest on mortgage — 10,920
Life insurance expense — 2,500
Other expenses 126,023 84,279

$ 0 $ 0
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As a result of your investigation you have developed
the following information.

1. On July 1, 1973, Maneri contracted for a per-
manent-type, $50,000 mutual life insurance policy on the
life of its president. Maneri designated itself as beneficiary.
The annual gross premium of $2,500 is due on the contract
date and thereafter on the annual anniversary- date. The
policy estimates that a dividend of $350 will be due the
policyholder on July 1, 1974, and stipulates that the cash
surrender value of the policy will be $84 on July 1, 1974.
Maneri has elected to offset policy dividends against future
premiums.

2. In 1972 Maneri manufactured a new mini

- calculator. The marketing plan includes shipping the units

on consignment to certain retailers. The following facts are
available:
1972 1973

Units produced (at $100 per
unit) 475 200

Units shipped on consignment 400 -
Unit sales reported by consign-
ees (at $150 per unit) 300 100

Retailers are entitled to deduct 10% of the sales price
as a commission. All consignees’ reports were accompanied
by full remittances.

3. An invoice dated December 29, 1972, for a pur-
chase of raw-materials (other) inventory for $4,105 was
recorded in January 1973. The material was included in the -
December 31, 1972, count of physical inventory.

4. Maneri services computer-X electronic equip-
ment on a contract basis. The service fee is payable one
year in advance. Maintenance is generally performed ratably
over the life of the contract. Maneri recorded the following
12-month contracts as revenue when cash was received:

Date of Contracts Amount
April 1, 1972 $7,200
August 1,1973 $9,612
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5. The note receijvable due December 31, 1975, was -
issued on January 2, 1972. Interest is due annually on
January 2. The prevailing interest rate on similar notes is
6.5%.

6. An analysis of the building account follows.

Purchase price of land and building  $ 55,000
Unpaid taxes assumed 4,300
Cost of demolition of old building 4,110 .
Cost of subdividing land 510
Payment to tenants of old building to
cancel leases 3,300
Construction of new building 190,000
$257,220

On January 3, 1972, Maneri purchased an old building
on ten acres of land for $55,000 cash. The company imme-
diately began demolition of the building and subdivision of
* the land into ten, one-acre lots of equal value. Nine acres
were held for speculation and the other acre was used for
construction of a new office building which was begun on
January 3, 1972.

To finance the construction, Maneri obtained
$180,000 proceeds of a one-year, 6.5% construction loan
on January 3, 1972. The prevailing interest rate on similar
‘loans was 6.5%. A payment of $12,000 principle plus in-
terest was made on December 29, 1972. The unpaid
balance of $168,000 was converted to a 6.5%, fourteen-
year mortgage note on January 3; 1973. Note payments
are due in equal installments plus interest annually on
December 31. The note is secured by the building and the
one acre of land on which it resides.

Construction of the new building was completed on
December 30, 1972. Maneri occupied the building on-

January 3, 1973. The building has an estimated life of forty
years and a salvage value of $5,000; depreciation is to be
computed on a straight-line basis. Depreciation has not
been recorded.

7. Maneri distributes Super-D AM-FM radios to
retailers. The radios are shipped from Maneri’s supplier-
manufacturer directly to the retailers. Maneri does not
maintain an inventory of the radios.

In January 1972 Maneri signed a three-year contract
to purchase 2,100 Super-D AM-FM radios each year from
Melgren Manufacturing Company at a firm price of $30 per
unit.

During January 1973, due to improvements in the
production process, all local manufacturers of radios similar
to the Super-D radio lowered their price to $22 per unit.
Melgren also reduced its price of the Super-D radio to $22
except to Maneri. For competitive reasons, comparable
reductions in prices to retailers were made by all local
distributors including Maneri. Due to a long-time business
relationship between Melgren and Maneri, and the certainty
of future business, Maneri considers its contract with
Melgren binding and will not contest it. Maneri purchased
2,300 radios in 1972, 2,100 in 1973, and intends to meet
its purchase commitment of 2,100 units in 1974.

Required: :

Prepare a schedule of adjustments which must be
made to correct the 1972 and 1973 trial balances. The
items on the schedule should be presented in the same
order as the facts are given with corresponding numbers 1
through 7. Include supporting data for item 6. Adjusted
trial balances and formal financial statements are not re-
quired. Ignore income tax and deferred tax considerations.
Use the following columnar headings for your schedule.

1972 1973
Income Balance Income Balance
Statement Sheet Statement Sheet
No. Explanation Dr. (Cr.) Dr. (Cr.) Account Dr. (Cr) Account

Dr. (Cr.)
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Number 5 (Estimated time —— 40 to 50 minutes): -

The following transactions represent practical situa-
tions frequently encountered in accounting for municipal
governments, Each transaction is independent of the others.

1. The city council of Bernardville adopted a
budget for the general operations of the government during
the new fiscal year. Revenues were estimated at $695,000,
Legal authorizations for budgeted expenditures were
$650,000.

2. Taxes of $160,000 were levied for the special
revenue fund of Millstown. One percent was estimated to
be uncollectible.

3. a.  On July 25,1973, office supplies estimated
to cost $2,390 were ordered for the city
manager’s office of*Bullersville. Bullersville,
which operates on the calendar year, does
not maintain an inventory of such supplies.

b.  The supplies ordered July 25 were received

on August 9, 1973, accompanied by an
invoice for $2,500.

4. On October 10, 1973, the general fund of
Washingtonville repaid to the utility fund a loan of $1,000
plus $40 interest. The loan had been made earlier in the
fiscal year.

5. A prominent citizen died and left ten acres of
undeveloped land to Harper City for a future school site.
The donor’s cost of the land was $55,000. The fair value of
the land was $85,000.

6. a. On March 6, 1973, Dahlstrom City issued

4% special assessment bonds payable March
6, 1978, at face value of $90,000. Interest
is payable annually. Dahlstrom City, which
operates on the calendar year, will use the
proceeds to finance a curbing project.

b.  On October 29, 1973, the full $84,000 cost
of the completed curbing project was
accrued. Also, appropriate closing entries
were made with regard to the project.
Conrad Thamm, a citizen of Basking Knoll,
donated common stock valued at $22,000
to the city under a trust agreement. Under

the terms of the agreement, the principal

amount is to be kept intact; use of revenue
from the stock is restricted to financing
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academic college scholarships for needy
students. .

b. On December 14, 1973, dividends of
$1,100 were received on the stock donated
by Mr. Thamm.

8. a. On February 23, 1973, the town of
Lincoln, which operates on the calendar
year, issued 4% general obligation bonds
with a face value of $300,000 payable
February 23, 1983, to finance the construc-
tion of an addition to the city hall. Total
proceeds were $308,000.

b. On December 31, 1973, the addition to the
city hall was officially approved, the full
cost of $297,000 was paid to the contrac-
tor, and appropriate closing entries were
made with regard to the project. (Assume
that no entries have been made with regard
to the project since February 23, 1973.)

Required:

For each transaction, prepare the necessary journal
entries for all of the funds and groups of accounts involved.
No explanation of the journal entries is required. Use the
following headings for your workpaper:

Trans- Fund or
action : Group of
Number  Journal Entries  Dr. Cr.  Accounts

In the far right column, indicate in which fund or group of
accounts each entry is to be made, using the coding below:

Funds:
General G
Special revenue SR
Capital projects Cp
Debt service DS
Special assessments SA
Enterprise E
Intragovernmental service IS
Trust and agency TA

Groups of accounts:
General fixed assets GFA
General long-term debt LTD
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(Prepared by the Board of Examiners of the American Institute of Certified Public Accountants
and adopted by the examining boards of all states, territories, and the District of Columbia.)

EXAMINATION IN AUDITING

May 9, 1974,8:30 A.M. to 12:00 M.

NOTE TO CANDIDATES: Suggested time allotments are as follows:
Estimated Minutes
All questions are required: Minimum  Maximum
NO. b e 30 40
NO. 2 e e e e 30 40
No. 3 ......... e es e e et e 20 26
No. 4 ........... e e 20 26
NO. 5 e e 20 26
NO. 6 o J 20 26
NO. T e e e e 20 26
Total for examination ............c..oiiiiiiiiiiiia... 160 210

~ INSTRUCTIONS TO CANDIDATES

You must arrange the papers in numerical order of the
questions. If more than one page is required for an
answer, write “continued” at the bottom of the page.
Number pages consecutively. For instance, if 12 pages
are used for your answers they should be numbered 1
through 12.

The printed answer sheet provided for the objective-
type items should be considered to be Page 1.

2.

A CPA is continually confronted with the necessity of
expressing his opinions and conclusions in written
reports in clear, unequivocal language. Although the
primary purpose of the examination is to test the
candidate’s knowledge and application of the subject
matter, the ability to organize and present such
knowledge in acceptable written language will be
considered by the examiners.

DISREGARD OF THESE INSTRUCTIONS MAY BE CONSIDERED AS INDICATING INEFFICIENCY IN ACCOUNTING
WORK.
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Number 1 (Estimated time — 30 to 40 minutes)
Instructions

Select the best answer for each of the following items.
Use a soft pencil, preferably No. 2, to blacken the appro-
priate space on the separate printed answer sheet to
indicate your answer. Mark only one answer for each item.
Answer all items. Your grade will be based on your total
correct answers.

The following is an example of the manner in which
the answer sheet should be marked:

Item
96. One of the generally accepted auditing standards
specifies that the auditor
a. Inspect all fixed assets acquired during the year.
b. Charge fair fees based on cost.
c. Make a proper study and evaluation of the exist-
ing internal control.
d. May not solicit clients.

Answer Sheet

Items to be Answered

1. A certified public accountant may be retained by his
client to perform routine bookkeeping services or to
prepare financial statements for the client’s internal use
only. For such statements, it might not be necessary to
include all footnotes or other disclosures that otherwise
would be desirable. In this situation

a. A disclaimer of opinion is not required.

b. The CPA should add to his disclaimer of opinion
a sentence to the effect that the financial state-
‘ments are restricted to internal use by the client
and therefore do not necessarily include all dis-
closures that might be required for a fair presen-
tation.

~c. A disclaimer of opinion is required, and the CPA
should include all informative disclosures con-
sidered necessary in the circumstances.

d. An adverse opinion is required.

2. When a certified public accountant who is not inde-
pendent is associated with financial statements, he would
be precluded from expressing an opinion because

a. The public would be aware of his lack of inde-
pendence and would place little or no faith in his
opinion.

b. He would place himself in the position of suffer-
ing an adverse decision in a possible liability suit.

c. He would be in the position of auditing his own
work.

d. Any auditing procedures he might perform
would mnot be in accordance with generally
accepted auditing standards.

Auditing
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3. When a CPA has concluded that action should be
taken to prevent future reliance on his report, he should

a. Advise his client to make appropriate disclosure
of the newly discovered facts and their impact
on the financial statements to persons who are
known to be currently relying or who are likely
to rely on the financial statements and the re-
lated auditor’s report.

b. Recall the financial statements and issue revised
statements and include an appropriate opinion.

c. Advise the client and others not to rely on the
financial statements and make appropriate dis-
closure of the correction in the statements of a
subsequent period.

d. Recall the financial statements and issue a dis-
claimer of opinion which should generally be
followed by revised statements and a qualified
opinion.

4. The use of the positive (as opposed to the negative)
form of receivables confirmation is indicated when

a. Internal control surrounding accounts receivable
is considered to be effective.

b. There is reason to believe that a substantial
number of accounts may be in dispute.

¢. A large number of small balances are involved.

d. There is reason to believe a significant portion of
the requests will be answered.

5. If statistical-sampling methods are used by a client in
the taking of its physical inventory, the CPA must

a. Insist that the client take a complete physical
inventory at least once each year and observe the
inventory count if it is reasonable and practi-
cable for him to do so.

b. Observe such test counts as he deems necessary
and satisfy himself that the sampling plan has
statistical validity, that it was properly applied,
and that the resulting precision and reliability are
reasonable in the circumstances.

c. Either observe a complete inventory count some-
time during the year and satisfy himself that the
statistical procedures are valid or qualify or dis-
claim an opinion on the financial statements
taken as a whole.

d. Either observe a statistical inventory count each
year or qualify or disclaim an opinion on the
financial statements taken as a whole.

6. The auditor should be concerned about internal
control in a data processing system because
a. The auditor cannot follow the flow of informa-
tion through the computer.
b. Fraud is more common in an EDP system than a
manual system. '
¢. There is usually a high concentration of data pro-
cessing activity and control in a small number of
people in an EDP system. ; ‘
d. Auditors most often ‘“audit around the com-
puter.”
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7. A CPA has not been able to confirm a large account
receivable, but he has satisfied himself as to the proper
statement of the receivable by means of alternative auditing
procedures. The auditor’s report on the financial statements
should include

a. A description of the limitation on the scope of
his examination and the alternative auditing pro-
cedures used, but an opinion qualification is not
required.

b. An opinion qualification, but reference to the
use of alternative auditing procedures is not
required.

c. Both a scope qualification and an opinion quali-
fication. '

d. Neither a comment on the use of alternative
auditing procedures nor an opinion qualification.

8. The primary responsibility for the adequacy of dis-
closure in the financial statements and footnotes rests with
the

a. Partner assigned to the engagement.

b. Auditor in charge of field work.

¢. Staffman who drafts the statements and foot-
notes. :

d. Client.

Items 9 and 10 are based on the following in-
formation:

Once an auditor has determined that an exception is
material enough to warrant qualification of his auditor’s
report, he must then determine if the exception 1s suffi-
ciently material to negate an overall opinion.

9. If an auditor is applying this decision process to an
exception based on a departure from generally accepted
accounting principles, he is deciding

a. Whether to issue an adverse opinion rather than a
“subject to” opinion.

b. Whether to issue a disclaimer of opinion rather
than a *“subject to” opinion.

c. Whether to issue an adverse opinion rather than
an “except for” opinion.

d. Nothing because this decision process is not
applicable to this type of exception.

10. If an auditor is applying this decision process to a
consistency exception, he is deciding
a. Whether to issue a disclaimer of opinion rather
than an “except for” opinion.
b. Whether to issue a disclaimer of opinion rather
than a “subject to” opinion.
c. Whether to issue an adverse opinion rather than
an “‘except for” opinion.
d. Nothing because this decision process is not
applicable to this type of exception.
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‘When auditing a computerized system, an auditor may
use the “integrated test facility” technique, sometimes
referred to as the mini-company approach, as an audit tool.
This technique

a. Is more applicable to. independent audits than
internal audits.

b. Involves using test decks.

c. Is the most commonly used audit tool for
‘“auditing through the computer.”

d. Involves introducing simulated transactions into
a system simultaneously with actual transactions.

12. Carolyn Burns, CPA, has been assisting Nestler Manu-
facturing Corporation in the preparation of unaudited
financial statements. It has come to the attention of Burns
that Nestler is carrying a substantial investment in
Salvemini, Inc., at cost, even though it is public knowledge
that Salvemini is in bankruptcy and its stock is worthless.
Burns’ reporting responsibility is met by
a. Describing the deviation from generally accepted
accounting principles in her dlsclalmer of
opinion.
b. Issuing an adverse opinion.
c. Issuing the statements on plain paper without
reference to Burns.
d. Stating in her disclaimer of opinion that Nestler’s
financial statements are unaudited.

13. In reporting on the consolidated financial statements

of a parent company and its subsidiaries, if the principal -

auditor decides to assume responsibility for the work of
another CPA insofar as the other CPA’s work relates to the
principal auditor’s expression of an opinion on the financial
statements taken as a whole, the principal auditor should

a. Make reference in his auditor’s report to the
other CPA’s examination.

b. Not make reference to the other CPA’s examina-
tion.

c. Make reference in his auditor’s report to the
other CPA’s examination and responsibility and
include the report of the other CPA.

d. Not make reference to the other CPA’s examina-
tion, but he should mclude the other CPA’s
report.

14. During the year ended December 31, 1973, Yolly Cor-
poration had its fixed assets appraised and found that they
had substantially appreciated in value since the date of their
purchase. The appraised values have been reported in the
balance sheet as of December 31, 1973; the total appraisal
increment has been included as an extraordinary item in the
income statement for the year then ended; and the ap-
praisal adjustment has been fully disclosed in the footnotes.
If a CPA believes that the values reported in the financial
statements are reasonable, what type of opinion should he
issue?

An unqualified opinion.

A “‘subject to” qualified opinion.

An adverse opinion.

A disclaimer of opinion.

poop
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15. A magnetic tape header label is used to widin the
operator that St
a. The next processing step is about to begin.

b. A wrong input tape has been mounted.

c. An incorrect number of records have been pro-
cessed.

d. A different type of input or output device must
be used.

Items 16 through 20 apply to an examination by
Robert Lambert, CPA, of the financial statements of
Rainbow Manufacturing Corporation for the year ended
December 31, 1973. Rainbow manufactures two products:
Product A and Product B. Product A requires raw materials
which have a very low per-item cost, and Product B requires
raw materials which have a very high per-item cost. Raw
materials for both products are stored in a single ware-
house. In 1972 Rainbow established the total value of raw
materials stored in the warehouse by physically inven-
torying an unrestricted random sample of items selected
without replacement.

Mr. Lambert is evaluating the statistical validity of
alternative sampling plans Rainbow is considering for 1973.
Lambert knows the size of the 1972 sample and that Rain-
bow did not use stratified sampling in 1972. Assumptions
about the population, variability, specified precision
(confidence interval), and spzcified reliability (confidence
level) for a possible 1973 sample are given in each of the
following five items. You are to indicate in each case the
effect upon the size of the 1973 sample as compared to the
1972 sample. Each of the five cases is independent of the
other four and is to be considered separately. Your answer
choice for each item 16 through 20 should be selected from
the following responses:

Larger than the 1972 sample size.

Equal to the 1972 sample size.

Smaller than the 1972 sample size.

Of a size that is indeterminate based upon the
information given.

pao o

16. Rainbow wants to use stratified sampling in 1973 (the
total population will be divided into two strata, one each
for the raw materials for Product A and Product B). Com-
pared to 1972, the population size of the raw-materials
inventory is approximately the same, and the variability of
the items in the inventory is approximately the same. The
specified precision and specified reliability are to remain
the same.
Under these: assumptxons the required sample size for

1973 should be

Larger than the 1972 sample size.

Equal to the 1972 sample size.

Smaller than the 1972 sample size.
"Of a size that is indeterminate based upon the
-information given.

e o
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17. Rainbow wants to use stratified sampling in 1973.

Compared to 1972, the population size of the raw-materials

inventory is approximately the same, and the variability of

the items in the inventory is approximately the same.

Rainbow specified the same precision but desires to change

the specified reliability from 90% to 95%. '
Under these assumptions, the required sample size for

1973 should be

Larger than the 1972 sample size.

Equal to the 1972 sample size.

Smaller than the 1972 sample size.

Of a size that is indeterminate based upon the

information given.

oo o

18. Rainbow wants to use unrestricted random sampling
without replacement in 1973. Compared to 1972, the pop-
ulation size of the raw-materials inventory is approximately
the same, and the variability of the items in the inventory is
approximately the same. Rainbow specifies the same pre-
cision but desires to change the specified reliability from
90% to 95%. '

Under these assumptions, the required sample size for
1973 should be
Larger than the 1972 sample size.
Equal to the 1972 sample size.
Smaller than the 1972 sample size.
Of a size that is indeterminate based upon the
information given.

ae o

19. Rainbow wants to use unrestricted random sampling
without replacement in 1973. Compared to 1972, the
population size of the raw-materials inventory has in-
creased, and the variability of the items in the inventory has
increased. The specified precision and' specified rehablhty
are to remain the same.
Under these assumptions, the required sample size for
1973 should be
a. Larger than the 1972 sample size.
b. Equal to the 1972 sample size.
“¢. .Smaller than the 1972 sample size.
d. Of a size that is indeterminate based upon the
information given.

20. Rainbow wants to use unrestricted random sampling
without replacement in 1973. Compared to 1972, the
population size of the raw-materials inventory has in-
creased, but the variability of the items in the inventory has
decreased. The specified precision and specified re11ab111ty
are to remain the same.

Under these assumptions, the required sample size for
1973 should be
Larger than the 1972 sample size.
Equal to the 1972 sample size.
Smaller than the 1972 sample size.
Of a size that is indeterminate based upon the
information given.

faoos
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21. If a prior year’s financial statements are presented in
comparison with the current year’s financial statements and
are not restated to give appropriate recognition to a pooling
of interests which occurred during the current year, the
CPA should

a. Qualify his opinion as to consistency.

b. Qualify his opinion as to departure from gener-
ally accepted accounting principles.

c. Qualify his opinion as to consistency and depar-
ture from generally accepted accounting prin-
ciples. '

d. Disclaim an opinion.

22. Control totals are used as a basic method for detecting
data errors. Which of the following is not a control figure
used as a control total in EDP systems?

a. Ledger totals.

b. Check-digit totals.

c. Hash totals.

d. Document-count totals.

23. General and special computer programs have been
developed for use in auditing EDP systems. When consider-
ing the use of these computer-audit programs, the auditor

a. Should determine the audit efficiency of using a
given computer program.

b. Will find them ineffective for applications con-
taining many records and requiring significant
time for testing.

c. Should use them on a surprise basis in order for
them to be effective.

d. Will find them economically feasible for any size
EDP system.

24. The Smith Corporation has numerous small cus-
tomers. A customer file is kept on disk storage. For each
customer the file contains customer name, address, credit
limit, and account balance. The auditor wishes to test this
file to determine whether credit limits are being exceeded.
Assuming that computer time is available, the best pro-
cedure for the auditor to follow would be to

a. Develop a test deck which would cause the
account balance of certain accounts to be in-
creased until the credit limit was exceeded to see
if the system would react properly.

b. Develop a program to compare credit limits with
account balances and print out the details of any
account with a balance exceeding its credit limit.

¢. Ask for a printout of all account balances so that
they can be manually checked against the credit
limits.

d. Ask for a printout of a sample of account
balances so that they can be individually checked
against the credit limits.
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25. In the report of the principal auditor, reference to the
fact that part of the examination was made by another
auditor is
a. Not to be construed as a qualification of the
opinion but rather as an indication of the divided
responsibility.
b. Not in accordance with generally accepted
auditing standards.
¢. A special kind of qualified opinion resulting
from the divided responsibility.
d. An example of a dual opinion requiring the
signature of both auditors.

Number 2 (Estimated time — 30 to 40 minutes)
Instructions

Select the best answer for each of the following items.
Use a soft pencil, preferably No. 2, to blacken the appro-
priate space on the separate- printed answer sheet to
indicate your answer. Mark only one answer for each item.
Answer all items. Your grade will be based on your total
correct answers.

Items to be Answered

26. Bell’s accounts-payable clerk has a brother who is one
of Bell’s vendors. The brother will often invoice Bell twice
for the same delivery. The accounts-payable clerk removes
the receiving report for the first invoice from the paid-
voucher file and uses it for support of payment for the
duplicate invoice. The most effective procedure for pre-
venting this activity is to
a. Use prenumbered receiving reports.
b. Mail signed checks without allowing them to be
returned to the accounts-payable clerk.
c. Cancel vouchers and supporting papers when
payment is made.
d. Use dual signatures.

27. Tedori Manufacturing Company received a substantial
sales return on December 30, 1973, but the credit memo-
randum for the return was not prepared and recorded until
March 4, 1974. The returned merchandise was included in
the year-end physical inventory taken on December 31,
1973. The most effective procedure for preventing this type
of erroris to

a. Prepare an aged schedule of accounts receivable
monthly.

b. Prenumber and account for all credit memo-
randums.

c. Reconcile the subsidiary accounts-receivable
ledger with the general-ledger control account
monthly.

d. Prepare and numerically control receiving reports
for all materials received.



28. Smith Manufacturing Company’s accounts-receivable
clerk has a friend who is also Smith’s customer. The
accounts-receivable clerk, on occasion, has issued fictitious
credit memorandums to his friend for goods supposedly
returned. The most effective procedure for preventing this
activity is to

a. Prenumber and account for all credit memo-
randums.

b. Require receiving reports to support all credit
memorandums before they are approved.

c. Have the sales department independent of the
accounts-receivable department.

d. Mail monthly statements.

Auditing

29. Which of the following is a responsibility that should

not be assigned to only one employee?

a. Access to securities in the company’s safe
deposit box.-
Custodianship of the cash working fund.

c. Reconciliation of bank statements.

d. . Custodianship of tools and small equipment.

30. Salesmen’s commissions are based on gross sales. Sales
continue to increase; but uncollectible accounts receivable
are also increasing at an alarming rate. The most effective
procedure for preventing the increase in uncollectible
accounts receivable is to

a. Have the sales manager review activity of indi-
vidual salesmen.

b. Age accounts receivable regularly.

c. Have the write-off of accounts properly ap-
proved.

d. Have the credit department approve credit ex-

tended to customers before shipment.

31. The major reason an independent auditor gathers
audit evidence is to

Form an opinion on the financial statements.
Detect fraud.

Evaluate management.

Evaluate intemal control.

Ao o

32, Jefferson, CPA, has prepared Mr. Burr’s  federal
income tax return for several years. This year Jefferson had
discovered that in the prior years’s return he made an error
that resulted in a lower tax liability for Burr. The tax return
is now under IRS administrative review. What are
Jefferson’s professional responsibilities in this connection?
a. Jefferson should inform Burr of the error and
seek his agreement to disclose it promptly to IRS
officials.
Jefferson should maintain the confidentiality of
information obtained in the course of a profes-
sional engagement even if questioned in Tax
Court. )
Jefferson should disclose the error to IRS
officials promptly, either orally or in writing.
Jefferson should terminate his accountant-client
relationship with Burr upon discovery of the
error.
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33. A factory foreman at Steblecki Corporation: dis-
charged an hourly worker but did not notify the payroll
department. The foreman then forged the worker’s signa-
ture on time cards and work tickets and, when giving out
the checks, diverted the payroll checks drawn for the dis-
charged worker to his own use. The most effective
procedure for preventing this activity is to

a. Require written authorization for all employees
added to or removed from the payroll.

b. Have a paymaster who has no other payroll re-
sponsibility distribute the payroll checks.

¢. Have someone other than persons who prepare
or distribute the payroll obtain custody of
unclaimed payroll checks.

d. From time to time, rotate persons distributing

the payroll.

34. Under the AICPA Code of Professional Ethics, which’
of the following may a practicing CPA do in connection
with educational seminars?

a. Send announcements about his appearance on a
seminar program to nonclients or invite them to
attend.

b. Sponsor a seminar and send invitations to non-
clients.

c. Allow himself to be listed as a tax expert on the
seminar announcement.

d. Distribute firm literature at the seminar to non-

clients on a relevant topic being discussed at the
seminar.

35. Murphy & Co., CPAs, is the principal auditor of the
consolidated financial statements of Lowe, Inc., and sub-
sidiaries. Lowe accounts for approximately 98% of con-
solidated assets and consolidated net income. The two
subsidiaries are audited by Trotman. & Co., CPAs, a firm
with an excellent professional reputation. Murphy insists on
auditing the two subsidiaries because it deems this neces-
sary to warrant the expression of an opinion.

a.. The principal auditor of consolidated statements
may never insist on auditing the subsidiaries.

b. Murphy may insist on auditing the subsidiaries
only if it shares the fee with Trotman. .

¢. Murphy may insist on auditing the subsidiaries
only if it can show that total fees will be re-
duced.

d. Murphy may be considered in violation of the

AICPA Code of Professional Ethics because of
encroachment on Trotman.

36. Parnell, CPA, accepted the audit engagement of
Treacy Manufacturing, Inc. During the audit, Parnell
became aware of the fact that he did not have the
competence required for the engagement. What should
Parnell do?

a. Disclaim an opinion.

b. Issue a “subject to” opinion.

c. Suggest that Treacy engage another CPA to
perform the audit.

d. Rely on the competence of client personnel.
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37. A bank issued a notice to its depositors that it was
being audited and requested them to comply with the
CPA’s efforts to obtain confirmation of the deposit
balances. The bank printed the name and address of the
CPA in the notice. The CPA had knowledge of the mailing.

a. The CPA violated the AICPA Code of Profes-
sional Ethics because this was a form of adver-
tising.

b. The CPA violated the AICPA Code of Profes-
sional Ethics because this notice would cause
confirmation results to be unusually high and,
therefore, could not be compared to prior-period
returns.

c. The CPA violated the AICPA Code of Profes-
sional Ethics because the bank’s depositors may
include clients of other CPAs and this would be a
form of solicitation.

d. The CPA did not violate the AICPA Code of
Professional Ethics. -

38. The AICPA Code of Professional Ethics derives its
authority from the

a. Bylaws of the American Institute of CPAs.

b. Financial Accounting Standards Board.

c. Federal government.

d. Securities and Exchange Commission.

39. Barnes, CPA, has an audit client, Smith, Inc., which
uses another CPA for management-services work. Barnes
sends his firm’s literature covering its management-services
capabilities to Smith on a monthly unsolicited basis.

a. Barnes is violating the AICPA Code of Profes-
sional Ethics because this is a form of adver-
tising. ;

b. Barnes is violating the AICPA Code of Pro-
fessional Ethics unless he obtains the other
CPA’s permission to mail such literature to
Smith.

c. Barnes is violating the AICPA Code of Profes-
sional Ethics because this is considered encroach-
ment.

d. Barnes is not violating the AICPA Code of Pro-
fessional Ethics.

40. Evidential matter is generally considered sufficient
when
a. Itis competent.
b. There is enough of it to afford a reasonable basis
for an opinion on financial statements.
c. It has the qualities of being relevant, objective,
and free from unknown bias.
d. 1t has been obtained by random selection.

41. When evaluating internal control, the auditor’s pri-

~ mary concern is to determine

a. The possibility of fraud occurring.

b. Compliance with policies, plans, and procedures.

c. The reliability of the accounting information
system. ‘

d. The type of an opinion he will issue.
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42. When an auditor issues a qualified opinion because of
an uncertainty, the reader of the auditor’s report should
conclude that :

a. The auditor was not able to form an opinion on
the financial statements taken as a whole.

b. The uncertainty occurred after the balance-sheet
date but prior to the audit-report date.

c. There were ne audit procedures feasibly available
to the auditor by which he could obtain
satisfaction concerning the uncertainty.

d. The ability of the company to continue as a
“going concern” is questionable.

43. Ball Company, which has no perpetual inventory
records, takes a monthly physical inventory and reorders
any item which is less than its reorder point. On February
5, 1973, Ball ordered 5,000 units of item A. On February
6, 1973, Ball received 5,000 units of item A which had
been ordered on January 3, 1973. To prevent this excess
ordering, Ball should
a. Keep an adequate record of open purchase
orders and review it before ordering.
b. Use perpetual inventory records which indicate
goods received, issued, and amounts on hand.
c. Use prenumbered purchase orders.
d. Prepare purchase orders only on the basis of pur-
chase requisitions. ~

44. A sales clerk at Schackne Company correctly prepared
a sales invoice for $5,200, but the invoice was entered as
$2,500 in the sales journal and similarly posted to the
general ledger and accounts-receivable ledger. The customer
remitted only $2,500, the amount on his monthly state-
ment. The most effective procedure for preventing this type
of error is to

a. Use predetermined totals to control posting
routines.

b. . Have an independent check of sales-invoice serial
numbers, prices, discournts, extensions, and foot-
ings.

c. Have the bookkeeper prepare monthly state-
ments which are verified and mailed by a re-
sponsible person other than the bookkeeper.

d. Have a responsible person who is independent of
the accounts-receivable department promptly in-
vestigate unauthorized remittance deductions
made by customers or other matters in dispute.

45. In evaluating internal control, the first step is to pre-
pare an internal-control questionnaire or a flow chart of the
system. The second step should be to
a. Determine the extent of audit work necessary to
form an opinion. :
b. Gather enough evidence to determine if the
internal-control system is functioning as de-
scribed.
c. Write a letter to management describing the
weaknesses in the internal-control system.
d. Form a final judgment on the effectiveness of
the internal-control system.



46. Smith, CPA, issued an “except for” opinion on the
financial statements of Wald Company for the year ended
December 31, 1973. Wald has engaged another firm of
CPAs to make a second audit. The local bank has know-
ledge of Smith’s audit and has asked Smith to explain why
the financial statements and his opinion have not been
made available.

a. Smith cannet provide the bank with information
about Wald under any circumstances,
If Wald consents, Smith may provide the bank
with information concerning Wald.
c. If the other firm of CPAs consents, Smith may
provide the bank with information concerning
Wald. ;
The only way the bank can obtain information
concerning Smith’s audit is to obtain it by sub-
poena.

b.

47. Under the AICPA Code of Professional Ethics which
of the following characteristics is true for a professional
corporation or association of CPAs?

a. The name may be impersonal as long as it does
not indicate a speciality.
The shareholders must, in all cases, be jointly
and severally liable for the acts of the corpora-
tion.
c. The corporation may provide services that are
not compatible with the practice of public
accounting.
A shareholder who ceases to be eligible to be a
shareholder must dispose of all of his shares
within a reasonable period.

b.

48. The most reliable type of documentary audit evidence
that an auditor can obtain is

a. Physical examination by the auditor.

b. Documentary evidence calculated by the auditor

* from company records.

c. Confirmations received directly from third

parties.

d. Internal documents.

49. Theoretically, which of the following would not have
an effect on the amount of audit evidence gathered by the
auditor?

a. The type of opinion to be issued."

b. The auditor’s evaluation of internal control.

c. The types of audit evidence available to the
auditor. . '
Whether or not the client reports to the Securi-
ties and Exchange Commission.

d.
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50. The strongest criticism of the reliability of audit
evidence which the auditor physically observes is that
a. The client may conceal items from the auditor.
b. The auditor may not be qualified to evaluate the
items which he is observing.
¢. Such evidence is too costly in relation to its reli-
ability.
The observation must occur at a specific time,
which is often difficult to arrange.

Number 3 (Estimated time — 20 to 26 minutes)

You are the in-charge accountant examining the
financial statements of the Gutzler Company for the year
ended December 31, 1973. During late October 1973, you,
with the help of Gutzler’s controller, completed an internal
control questionnaire and prepared the appropriate memo-
randums describing Gutzler’s accounting procedures. Your
comments relative to cash receipts are as follows.

All cash receipts are sent directly to the accounts-
receivable clerk with no processing by the mail department.
The accounts-receivable clerk keeps the cash-receipts
journal; prepares the bank-deposit slip in duplicate; posts
from the deposit slip to the subsidiary accounts-receivable
ledger; and mails the deposit to the bank.

The controller receives the validated deposit slips
directly (unopened) from the bank. He also receives the
monthly bank statement directly (unopened) from the
bank and promptly reconciles it.

At the end of each month, the accounts-receivable
clerk notifies the generalledger clerk by journal voucher of
the monthly totals of the cash-receipts journal for posting
to the general ledger.

Each month, with regard to the general-ledger cash
account, the general-ledger clerk makes an entry to record
the total debits to cash from the cash-receipts journal. In
addition, the general-ledger clerk on occasion makes debit
entries in the general-ledger cash account from sources
other than the cash-receipts joumal, e.g., funds borrowed
from the bank.

Certain standard auditing procedures which are listed
in the next column have already been performed by you in
the audit of cash receipts. The extent to which these
procedures were performed is not relevant to the
question.
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o  Total and cross-total all columns in the cash-
receipts journal.

e  Trace postings from the cash-receipts journal to
the general ledger.

e . Examine remittance advices and related corre-
spondence to support entries in the cash-receipts journal.

Required:

Considering Gutzler’s internal control over cash re-
ceipts and standard auditing procedures already performed,
list all other auditing procedures and reasons therefor which
should be performed to obtain sufficient audit evidence
regarding cash receipts. Do not discuss the procedures for
cash disbursements and cash balances. Also do not discuss
the extent to which any of the procedures are to be
performed. Assume adequate controls exist to assure that
all sales transactions are recorded. Organize your answer
sheet as follows:

Other audit
procedures

Reason for other
audit procedures

Number 4 (Estimated time —— 20 to 26 minutes)

Charles Burke, CPA, has completed field work for his
examination of the Willingham Corporation for the year
ended December 31, 1973, and now is in the process of
determining whether to modify his report. Presented below
are two, independent, unrelated situations which have
arisen.

Situation I

In September 1973, a lawsuit was filed against

Willingham to have the court order it to install pollution-’

control equipment in one of its older plants. Willingham’s
legal counsel has informed Burke that it is not possible to
forecast the outcome of this litigation; however,

Willingham’s management has informed Burke that the cost,

of the pollution-control equipment is not economically
feasible and that the plant will be closed if the case is lost.
In addition, Burke has been told by management that the
plant and its production equipment would have only
minimal resale values and that the production that would
be lost could not be recovered at other plants.
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Situation IT '

During 1973, Willingham purchased a franchise
amounting to 20% of its assets for the exclusive right to
produce and sell a newly patented product in the northeast-
ern United States. There has been no production in market-
able quantities of the product anywhere to date. Neither
the franchisor nor any franchisee has conducted any market
research with respect to the product.

Required:

In deciding the type-of-report modification, if any,
Burke should take into account such considerations as
follows:

e  Relative magnitude
Uncertainty of outcome
Likelihood of error
Expertise of the auditor
Pervasive impact on the financial statements
Inherent importance of the item

® 6 06 00

Discuss Burke’s type-of-report decision for each situa-
tion in terms of the above and other appropriate considera-
tions. Assume each situation is adequately disclosed in the
notes to the financial statements. Each situation should be-
considered independently. In discussing each situation,
ignore the other. It is not necessary for you to decide the
type of report which should be issued.

Number § (Estimated time —— 20 to 26 minutes)

As part of your annual audit of Call Camper Com-
pany, you have the responsibility for preparing a report on
internal control to management. Your workpapers include a

- completed internal-control questionnaire and documenta-

tion of other tests of the internal-control system which you
have reviewed. This review identified a number of material
weaknesses; for some of these corrective action by manage-
ment is not practicable in the circumstances.

Required:

a. Discuss the form and content of the report on
intemnal control to management based on your annual audit
and the reasons or purposes for such a report. Do not write
a report.

b. Discuss the differences in the form and content
of ‘the report if it were based on a special study for the
purpose of reporting to a regulatory agency.



Number 6 (Estimated time —— 20 to 26 minutes)

In late spring of 1974 you are advised of a new assign-
ment as in-charge accountant of your CPA firm’s recurring
annual audit of a major client, the Lancer Company. You
are given the engagement letter for the audit covering the
calendar year December 31, 1974, and a list of personnel
assigned to this engagement. It is your responsibility to plan

. and supervise the field work for the engagement.

Required:

Discuss the necessary preparation and planning for the
Lancer Company annual audit prior to beginning field work
at the client’s office. In your discussion include the sources
you should consult, the type of information you should
seek, the preliminary plans and preparation you should
make for the field work and any actions you should take
relative to the staff assigned to the engagement. Do not
write an audit program.

Number 7 (Estimated time —— 20 to 26 minutes)

Presented below are three independent, unrelated
auditor’s reports. The corporation being reported on, in
each case, is profit oriented and publishes general-purpose
financial statements for distribution to owners, creditors,
potential investors, and the general public. Each of the
following reports contains deficiencies.

Auditor’s Report I

We have examined the consolidated balance sheet of
Belasco Corporation and subsidiaries as of December 31,
1973, and the related consolidated statements of income
and retained earnings and changes in financial position for
the year then ended. Qur examination was made in accor-
dance with generally accepted auditing standards and ac-
cordingly included such tests of the accounting records and
such other auditing procedures as we considered necessary
in the circumstances. We did not examine the financial
statements of Seidel Company, a major consolidated sub-
sidiary. These statements were examined by other auditors
whose report thereon has been furnished to us, and our
opinion expressed herein, insofar as it relates to Seidel
Company, is based solely upon the report of the other
auditors,

In our opinion, except for the report of the other
auditors, the accompanying consolidated balance sheet and
consolidated statements of income and retained earnings
and changes in financial position present fairly the financial
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position of Belasco Corporation and subsidiaries at
December 31, 1973, and the results of its operations and
the changes in its financial position for the year then ended,
in conformity with generally accepted accounting principles

applied on a basis consistent with that of the preceding

year.

Auditor’s Report II

The accompanying balance sheet of Jones Corporation
as of December 31, 1973, and the related statements of
income and retained earnings and changes in financial
position for the year then ended were not audited by us;
however, we confirmed cash in the bank and performed a
general review of the statements.

During our engagement, nothing came to our at-
tention to indicate that the aforementioned financial
statements do not present fairly the financial position of
Jones Corporation at December 31, 1973, and the results of
its operations and the changes in its financial position for
the year then ended, in conformity with generally accepted
accounting principles applied on a basis consistent with that
of the preceding year; however, we do not express an
opinion on them.

Auditor’s Report Il

I made my examination in accordance with generally
accepted auditing standards. However, I am not indepen-
dent with respect to Mavis Corporation because my wife
owns 5% of the outstanding 'commen stock of the
company. The accompanying balance sheet as of December
31, 1973, and the related statements of income and re-
tained eamings and changes in financial position for the
year then ended were not audited by me; accordingly, I do
not express an opinion on them.

Required:

For each auditor’s report describe the reporting defi-
ciencies, explain the reasons therefor, and briefly discuss
how the report should be corrected. Each report should be
considered separately. When discussing one report, ignore
the other two. Do not discuss the addressee, signatures,
and date. Also do not rewrite any of the auditor’s reports.
Organize your answer sheet as follows:

Report ,
No. Deficiency

Reason ‘ Correction




Uniform Certified Public Accountant Examination

(Prepared by the Board of Examiners of the American Institute of Certified Public Accountants
and adopted by the examining boards of all states, territories, and the District of Columbia.)

EXAMINATION IN BUSINESS LAW

(Commercial Law)

May 10, 1974; 8:30 A.M. to 12:00 M.

NOTE TO CANDIDATES: Suggested time allotments are as follows:
Estimated Minutes
All questions are required Minimum — Maximum

No. b e e e 25 .30
NO. 2 e 25 30
NO. 3 e 25 30
NO. 4 e e 25 30
o e 25 30
T 25 30
NOL T e e 25 _30

Total for examination ............ oo, 175 g

INSTRUCTIONS TO CANDIDATES

You must arrange the papers in numerical order of the
questions. If more than one page is required for an
answer, write “‘continued™ at the bottom of the page.
Number pages consecutively. For instance, if 12 pages
are used for your answers they should be numbered
from 1 through 12.

The printed answer sheet provided for the objective-
type items should be considered to be Page 1.

2.

A CPA is continually confronted with the necessity of
expressing his opinions and conclusions in written
reports in clear, unequivocal language. Although the
primary purpose of the examination is to test the
candidate’s knowledge and application of the subject
matter, the ébility to organize and present such
knowledge in acceptable written language will be
considered by the examiners.

DISREGARD OF THESE INSTRUCTIONS MAY BE CONSIDERED AS INDICATING INEFFICIENCY IN ACCOUNTING
WORK.
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Business Law

Number 1 (Estimated time —— 25 to 30 minutes)
Instructions

Select the best answer for each of the following items.
Use a soft pencil, preferably No. 2, to blacken the appro-
priate space on the separate printed answer sheet to
indicate your answer. Mark only one answer for each item,
Answer all items. Your grade will be based on your total
correct answers.

The following is an example of the manner in which
the answer sheet should be marked:

Item
99. The text of a letter from Bridge Builders, Inc., to
Allied Steel Co. follows:

We offer to purchase 10,000 tons of No. 4
steel pipes at today’s quoted price for delivery
two months from today. Your acceptance must
be received in five days.

Bridge Builders intended to create a (an)
a. [Express contract.
b. Unilateral contract.
c. Bilateral contract.
d. Joint contract.

Answer Sheet

Items to be Answered

1. John executed and delivered his check for $2,000 on
May 1 payable to the order of Ken who indorsed the check
to the order of Lyons for value. Despite John’s care in
executing-the check, Lyons was able to raise the amount to
$20,000 and on May 3 transferred it by blank indorsement
to Marks who took the check for value and in good faith
without notice of the alteration. If the drawee bank refuses
to honor the check because of insufficient funds

a. Marks would have an action against the bank for
failure to pay available funds in John’s account.

b. Marks would bear the entire loss since the check
was nullified by the alteration, though he would
have an action against Lyons.

¢. Marks, as a holder in due course, could recover
$20,000 from John.

d. Marks, as a holder in due course, could recover
$2,000 from John.

2. An instrument is nonnegotiable if it

Is payable in a foreign currency.

States it is secured by a mortgage.

States that it is'subject to any other agreement.
Is issued by a partnership and limited to pay-
ment from partnership assets.

oo
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3. The transferor of a bearer negotiable instrument who
transfers without indorsing but for full consideration

a. Is liable to all subsequent holders if there exists a
personal defense to the instrument maintainable
by the primary party and the transferor was
aware of the defense.

b. Warrants to his immediate transferee that he has
good title.

¢. Makes no warranty that prior signatures are
genuine or authorized.

d. Engages that he will pay the instrument if his
immediate transferor is unable to obtain pay-
ment upon due presentment and dishonor be-
cause of insufficient funds and due notice is
given the transferor.

4. When the holder of a negotiable instrument transfers
it for consideration by indorsing “without recourse,” he

a. Makes no warranty as to title as to any sub-
sequent holder.

. Prevents further negotiability.

c. Makes the same warranties as an unqualified
indorser except that he warrants that he does not
have knowledge of a defense of any party good
as against him rather than that there is no such
defense.

d. Becomes immune from recourse to him by a sub-
sequent holder.

5. Amos purchased a building from Thoms. He paid a
small amount of cash and took the building subject to a
mortgage given by Thoms to National Bank. Under these
circumstances

a. Sale of the building to Amos would normally
give National Bank an immediate right of action
against Thoms. .

b. Amos became primarily liable on the debt to
National Bank.

¢. Amos incurred no personal liability on the debt.

d. Payment of the mortgage debt by Amos would
give Amos a right of subrogation against Thoms.

6. Pix Company manufactures regular camera film and
markets it under its trademarked brand “Fino” and also
manufactures a newly developed color film “Unique” with
special qualities and a unique development process not pre-
sently marketed by others and for which there is no
competition. Pix has instituted a resale price maintenance
program to protect its products. Based on these facts

a. Pix will violate federal antitrust laws by requiring
price maintenance on ‘“Unique.”

b. Pix may legally require purchasers of “Unique”
to purchase equal quantities of “Fino” as a con-
dition of sale.

c. All states will permit retail price maintenance

- with respect to “Fino.”
d. An attempt to maintain. retail price maintenance
 with respect to “Fino” is a per se violation of the
federal antitrust law.
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Items 7, 8, and 9 are based on the following in-
formation:

Teff entered Archer’s office and stole from Archer
some radios and Archer’s wallet containing identification.
Subsequently, representing himself as Archer, Teff induced
Bane to purchase one of the stolen radios for a fair price.
Bane gave Teff his check made out to Archer. Teff indorsed
the check “Pay to the order of Crown, Archer” and trans-
ferred it to Crown for cash in the amount of the check.
Crown indorsed the check “Pay to the order of Fox,
Crown™ and transferred the check to Fox to be applied to
his account.

7. Bane’s check was
a. Void ab initio.
b. Bearer paper when Crown took it.
c. Order paper initially and negotiated by Teff to
Crown.
d. Nonnegotiable absent a valid indorsement by the
real Archer.

8. If Fox presents the check to the drawee bank which
had no notice of any irregularity, the drawee bank
a. May refuse to cash the check only if it has re-
ceived a stop-payment order.
b. Will discharge prior parties if it certifies the

instrument.

c. Will discharge prior 1nd0rsers if it pays the in-
strument.

d. Will acquire no rights against Bane if it pays the
instrument.

9. If the drawee bank refuses to honor the check on
timely presentment by Fox, he

a. Has a cause of action against the bank.

b. Can only succeed in an action against Teff be-
cause of his fraudulent acts.

c. Must proceed against Bane before resorting to
any right against any of the indorsers.

d. Can, after timely notice of dishonor, require
Crown to pay the amount of the check.

10. Bob purchased a car from Jones. At Bob’s request,
Paul guaranteed payment at the time of sale. Which of the

following defenses can Paul successfully assert against Jones

when sued following nonpayment of the debt by Bob at
maturity ?
a. Death of Bob.
b. Infancy of Bob.
¢. Nondisclosure of facts known to Jones at the
time of sale which were unknown to Paul and
materially increased the risk.
d. Lack of consideration by Jones to Paul for guar-
anteeing payment.

34

Items 11 and 12 are based on the following in--
formation:

Andrews borrowed $20,000 from State Bank giving a
mortgage on his building to State in that amount. Subse-
quently when the balance of the mortgage debt was
$19,000, Andrews entered into a contract to sell the build-
ing to Baum for $25,000 with Baum to assume the
mortgage at the closing date and pay Andrews $6,000.
Baum obtained a loan of $6,000 from Thomas secured by a
second mortgage, and Inch guaranteed payment of Baum’s
debt to Thomas.

11. Under the circumstances described above

a. If State Bank is notified of the transaction and

~ makes no protest, Andrews is discharged.

b. Absent any action by State Bank, Andrews is a
surety on the first mortgage debt which Baum
assumed.

c. If Baum defaults on the first mortgage, payment
by Andrews would not give Andrews a right of
reimbursement from Baum.

d. Inch and Andrews would be cosureties on the
two mortgages.

12. With respect to the relationships on the second
mortgage

a. An extension of time by Thomas to Baum, re-
serving his rights against Inch, would not release
Inch even though land values were falling. )

b. Thomas must resort to foreclosure upon default
by Baum on the second mortgage before seeking
payment from Inch.

c. Inch is an indemnitor rather than a surety.

d. Duress by Baum on Inch leading to the guaranty
will permit Inch to avoid liability to Thomas
without regard to Thomas’ knowledge of that
fact.

13. Park owed Collins $1,000 and $2,000, respectively, on
two separate unsecured obligations. Smythe had become a
surety on the $2,000 debt at the request of Park when Park
became indebted to Collins. Both debts matured on June 1.
Park was able to pay only $600 at that time, and he for-
warded that amount to Collins without instructions. Under
these circumstances
a. Collins must apply the funds pro rata in propor-
tion to the two debts.
b. Collins must apply the $600 to the $2,000 debt
if there is no surety on the $1,000 debt.
c. Smythe will be discharged to the extent of $400
if Collins on request of Smythe fails to apply
~ $400 to the $2,000 debt.
d. Collins is free to apply the $600 to the debts as
he sees fit.



Business Law

Items 14 and 15 are based on the following in-
formation:

Marlin ordered merchandise from Plant to be delivered
that noon and delivered a check payable to the order of
Plant and drawn on Marlin’s account in First Bank. The
goods were not delivered and Marlin exercised his rights to
rescind. Plant negotiated the check for full value to Rose
who took in good faith and without notice of any defense;
Rose then negotiated it for full value to Quirk who knew of
Plant’s breach of his agreement.

14. 1If, after rescission, Marlin notified First Bank to stop
payment on the check, First Bank
a. Will incur no liability by paying the check if no

written notification was received prior to pay--

ment.

b. Is liable for any loss suffered by Marlin as a
result of First Bank’s payment after receiving a
written stop-payment order regardless of the
time interval between receipt of the order and
payment.

c. Is not required to pay even if a valid presentment
is made by a holder in due course.

d. Is liable to Marlin for any loss suffered by Marlin
where it had issued its cashier’s check in pay-
ment of Marlin’s check before receipt of the

" stop-payment order but paid the cashier’s check
three days after receipt of the stop-payment
order,

15. If First Bank pays the check five days after Marlin
gave it to Plant,

-a.  Without prior knowledge of Marlin’s death, the
bank would be liable to Marlin’s estate if Marlin
had had a defense to payment of the check.

b. Payment by First Bank to Quirk after First Bank
received an effective stop-payment order would

require First Bank to credit Marlin’s account for

the amount of the check.

c. Payment by First Bank to Quirk after Marlin
filed voluntary bankruptcy but before notice to
the bank would result in denial of an action by
the trustee in bankruptcy against the bank for
the amount of the check so paid.

d. Payment by First Bank would require the bank
to credit Marlin’s account if prior to payment
First Bank had learned that Marlin had a valid
defense against Plant on the check.

16. Fitz received from Gayle a negotiable instrument pay-

able to the order of Gayle. Fitz received the instrument for

value, but Gayle inadvertently did not indorse the in-

strument, :

a. Fitz will be treated as the holder of a bearer
negotiable instrument.

b. If Fitz later obtains Gayle’s unqualified indorse-
ment, Fitz’s rights as a holder in due course are
determined as of the time of indorsement.

c. Fitz has a right to require Gayle to indorse, but
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